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PREFACE. xxxiii

old man’s constitution, and to have precipitated
his exit, was not being able to procure a passport
to return to Paris to see his family (who reside
there) before he paid the last debt of nature. This
refusal was rendered still more bitter, on its being
intimated to him that he was denounced by the
bloodthirsty committee of French Revolutionists
as a suspected character. From the moment he
was made acquainted with this circumstance he
became a martyr to grief—his philosophy forsook
him—his tears were incessant—and. he sank into

the grave.”

G. W.

17, Soho Square, 1832,



THE FOLLOWING ABBREVIATIONS ARE USED
THROUGHOUT THIS WORK.

[ PN Geesteacseneasssss s Queen.
Recececescasccccscnceccaccnsesees Rook.
Bivveioresseesasesasacseessaasas.Bishop.
Kt........ Ceveeene sesecsessseesssKnight

B e £
8Qeecccecsssccsscsccescsssessnass Bquare.
chiieeceresnccsnoscccsecneeecsess check
chg.ccececsesccertossaccccnssansaschecking.
8d. Or 8dV.cecceeccecccacscassesssaaadverse.
dis.ceoscsccsccsccscssnsessessssescdiscovering.
G. P.or Gamb. P. cceeesececssnsessGambit Pawn.
Mate..oeoeeescccacssecsscccsssessCheckmate.


















18.
19.
20.
a1,
22.
23.
24.
25.
26.
27.
28.
29.
30.
3l.
32.
33.
34.
35.
36.
37.

! 1t is always bad play to lose the move in taking a worthl

PHILIDOR ON CHESS.

WHITE.
K. R. P. one sq.

K. Kt. P. two sq.
Kt. to K. 2d sq.

Q. to Q. 2d sq.
Kt. to Kt. 3d sq.
Q. R.to K. sq.

R. takes Kt.

Q. takes P.

K. B. P. advances.
K. B. P. advances.
K. Kt. P. advances.
Q. takes Q.

K. P. advances.
Kt. to K. 4th sq.
R. takes Kt.

Kt. to adv. Q. 3d sq.

K. P. advances.

B. to Q. B. 4th sq. chg.

Kt. checks.

BLACK.
K. Kt. to Kt. 2d sq.
Q. B. P. one sq.

Q. Pawn moves.
Q. Kt. to Kt. 3d sq.
Q. Kt. to Q. 4th sq.
Kt. to adv. K. 3d sq.
P. takes R.

Q. takés Q. R.P. 1
Q. takes Q. Kt. P.
Kt. to K. sq.

Q. to adv. Q. 4th sq.
P. takes Q.

Kt. to Q. 3d sq.

Kt. to K. B. 4th sq.
P. takes R.

K B. P. advances.
K. R.to Q. Kt. sq.
K. moves.

K. moves.

Gives Mate in two moves.

pawn like this.
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(N You play your King so, that in case of necessity, you
can form an attack on the left.

(9) Although a Rook is generally of far more value than
the Kt., yet, in this particular case, you gain by the ex-
change. His Kt. has consumed four movesin taking up this
post, during which you have been gaining position.

(&) If you were not to support this P., he would get a good
game, by sacrificing B. for the two P.

() To oblige Black to move Q. B. P., which will allow
your Kts. to enter his game.

(k) He Castles with Q. R., to avoid the great strength of
your Pawns on the King’s side. .

() If you were to check with Kt., you would lose at least
two moves.

(m) Meaning to play Q. to K. B. sq., in order to protect
QB.P.

(n) To prevent your posting K. Kt. at Q. Kt. 3d sq.

FIRST VARIATION.

Moves 1 to 3 as before.

WHITE. BLACK.
3. Q. P. two squares. Q. P. two sq.
4. K. P. takes P. Q. B. P. takes P.
5. B. checks. B. interposes.
6. B. takes B. chg. Kt. takes B.
7. Q. P. takes P. Kt. takes P.
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[A]
BLACK. WHITE.
6. P. to adv. K. 3d square. K. Kt. to R.3d eq.
7. Q. B. P. twosq.! Q. P. one sq. [B.}
8. Kt. takes K. P. K. B. checks.
9. Q. B. interposes. B. takes B. chg.
10. Q.Kt. takes B. Castles.
‘White has the better game.
(B
BLACK. WHITE.

7e ceeeeriesnnineeneeee. . K. B, checks.
8. Q. Kt. to B.3d sq. (a) Q.P. onesq.
9. Q. R. P. one sq. K. P. advances.

1 This move is not so good as checking with Queen, and then (on
the K. Kt. P. being interposed), withdrawing her to K. R. 3d sq.
as recommended by Lewis, in his scientific and useful work on
Chess. If, at this stage of the game, the first player take K. R. P.
with Kt., the result would be as follows :—

BLACK. WHITE.

7. Kt. takes K. R. P, 7. You cannot retake Kt with
R., as the Queen would, in
that case, check and ruin your
game, but playing instead

Q. B. takes P.
8. Kt. takes K. B. K. takes Kt.
9. Q. B. takes Kt. R. takes Q. B., having at leastan

equal game.
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BLACK. WHITE.
9. B. takes Q. Kt. P. ! Q. R. to Q. Kt. sq.
0. B. to K. B. 3d sq. K. Kt. P. two sq.
1. K. Kt. P. one sq. K. Kt. P. advances.
2. B. to K. Kt. 2d sq. K. R. P. advances.
3. K.R. to K. 2d sq. K. R. to R. 4th sq.
4. Q. R. to K. sq. Q. B. to Q. 2d sq.
5. K. R. to adv. K. 4th sq. K. R. P. takes P.
6. K. R. P. takes P. Q. R.to K. R. &q.
7. Q. Kt. P. two sq. Q. B. to B. 3d sq.
18. R. checks.? ° K. to B. 2d sq.

19. R. takes Q. Mates in two moves.

t K. R. P. two sq., were better play.

2 Instead of checking, the first player should proceed as fol-
OWB :—

BLACK. WHITE.
28. B.takes B, Q. takes B,
29. Rook checks. Q. takes R.
30. R. takes Q. ch. K. takes R.
31. K. to B. sq. K. R. checks.
32. K. to K. 2d sq. Q. R. to K. sq.

33. Q. to K. B. 4th sq., and will draw the game.

The reader will see from these moves, that I have not scrupled
to avail myself occasionally of the notes attached to former editions
of Philidor.
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SECOND VARIATION.

Moves 1 to 5 as in Game IV.

BLACK. WHITE.
6. Q. to Q. B. 2d square. K. B. to Q. B. 4th sq.
7. Q. P. takes P. K. B. P. takes P.
8. Q. B. P. one sq. Q. to adv. Q. 4thsq.
© 9. Q. Kt. to B. 3d sq. K. Kt. to B. 3d sq.
10. Q.Kt.toad. Q Kt.4thsq. Q. to Q. sq.
11. Q. R. P. one 8q. Q. R. P. two sq.
12. K. Kt. to K. 2dsq.  Castles.
13. K. Kt. P. one sq. Q. B. to adv. K. Kt. 4th
14. K. B. to K. Kt. 2dsq. Q. B. to adv. K. B. 3d sq
15. K. Kt. to Kt. sq. Q. B. takes B.
16. Q. takes B. K. Kt. to adv. K. Kt. 4th

17. K. Kt. to R. 3d sq. Q. Kt. to B. 3d sq.
18. Q. Kt. to B. 3d sq. Q. to adv. Q. 4th sq.
19. Q. Kt. to K. 2d sq. Q. toadv. Q. 3d sq.

20. B.toQ.2dsq. =~ K. P. advances.

21. Q. B. to B. 3d sq. Q.R. to Q. &q.

22, K. Kt. toadv. Kt. 4thsq. Q. to adv. Q. 2d sq. chg.
23. B. takes Q. P. takes B. chg.

24. K. to Q. sq. Kt. gives checkmate.



PHILIDOR ON CHESS.

(A]

BLACK. WHITE.
4. Q. P. two squares. P. takes P,
5. P.takes P. Q. B. P. two sq.
6. Q. B. toK. 3d sq. P. takes P.
7. Q. takes P. . Q. takes Q.
8. B. takes Q. Q. Kt. to B. 3d sq.

The game is even.

D 2
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ON THE OPENINGS OF GAMES.

FIRST OPENING.

WHITE. BLACK.
1. K. P. two squares. The same.
2. K. B. to Q. B. 4thsq.  The same.
3. Q. B.P. onesq. Q. to K. 2d sq.
4. K. Kt. to B. 3d sq. [A.] The same. [B.]
5. Q. to K. 2d sq. Q. P. onesq.
6. Q. P. one 8q. [C.] Q. B. P. one sq.
7. K. R. P. one sq. The same.
8. Q. B. to K. 3d sq. B. takes B.
9. Q. takes B.! Q. B. to K. 3d sq.
10. B. takes B. Q. takes B.
11. Q. Kt. to Q. 2d sq. The same.
12. Castles. K. R. The same.
The Game is equal.

! I should prefer retaking with K. B. P. ; indeed, it is ge
good play to double the K. Pi. and K. B. P. in the
manner. °
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[A]
WHITE. BLACK.
4. K. Kt. to K. 2d square. K. B.takes P. chg.
5. K. takes B. Q. to Q. B. 4th sq. chg.
6. Q. P. two sq. Q. takes B.
7. Q. Kt. to R. 3d sq. Q. to K. 3d sq.
Black has won a Pawn.
(B]
WHITE. BLACK.
4. ciieececniiinssassesss K. B. takes P. chg.
5. K. takes B, Q. to Q. B. 4th square. chg.
6. Q. P. two sq. Q. takes B.
7. K. Kt. takes K. P. Q. to K. 3d sq.
8. Q. to K. B. 3d sq. Q. P. one sq.
9. Kt. to Q. 3d sq. K. Kt. to B. 3d sq.
10. K. R. to K. sq. Castles. '

‘White has the better position; your King is equally well
placed, as if he had Castled.

[C‘] .
WHITE. BLACK.
6. Q. P. two squares. P. takes P.
7. P. takes P. K. B. checks.

D3



weT. macs.
: o ¥ s B R dy
e icwmsE QLEParsy
HEREY VARIATION.
EHES BLACK.
L K P.o»1 spmes. The sume.
2 KE2QE s Theame
2QRP o QR:wB g
4L QP.vex P.ukes P.[D.]

5 KRukzP . de Kaks B
6. Qwadv. R sth o g K i P.oae g
7. Q takes B, and has the better position.

0
wHITE. BLACK.
. K. B. to Q Kt 3d &q.
5. CKt. to K. 2dsq.' K. Kt to B. 3d sq.
6. Q to Q 3d oq. Castles.
7. K. B. P. two sq. K. P. takes Q. P.
8. K. P. one sq. Q. P. two sq.

9. K. B. to Q. Kt. 3d sq. K. Kt. to adv. K. 1th sq

} How much more attacking this Kt. would be, if playe
W to K, B. 3d sq.
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WHITE. BLACK.
10. Q. B. P. takes P. K. B. P. two sq.
11. Q. Kt. to B. 3d sq. Q. B. to K. 3d sq.
Equal game.

SECOND VARIATION.
Moves 1 to 4 as in the First Opening.

WHITE. BLACK.
5. Q. to K. 2d square. K. Kt. to adv. Kt. 4th sq.
6. Q. P. two sq. P. takes P.
7. P. takes P. K. B. checks.
8. Q. Kt. to B. 3d sq. K. Kt. to B. 3d sq.
9. K. B. to Q. 3d sq. Castles.
.0. Castles, Q. P. one sq.
.1. K. R. P. one sq. The same.

2. Q. B. to Q. 2d sq., having the better position.

SECOND OPENING.

WHITE. BLACK.
1. K. P. two squares. Same move.
2. K. B. to Q. B. 4thsq. K. Kt. to B. 3d sq. !

! This is not a good move, strictly speaking, but, for the sake of
ariety, it may sometimes be played; you may also push K. B. P.
v0 8q., at this point of the game.















36 PHILIDOR ON CHESS.

WHITE. BLACK.
8. K. P. takes P. Kt. takes P.
9. Q.to Q. Kt. 3d sq. Q. B. P. one 8q.
10. K. Kt. to K. 2d sq. Castles.
11. Castles. K. R. K. Kt. to Q. Kt. 3d sg.
12. K. B. to Q. 3d sq. Q. B. to K. 3dsq.
13. Q. to Q. B. 2d q. K. Kt. P. one gq.
14. K. B. P. two sq. The same.
156. Q. Kt.to K. B.3desq. Q. Kt.to Q. 2d sq.
16. Q. Kt. to adv. K. 4th sq. Q. Kt. to K. B. 3d eq.
17. Q R. to Q. &q. K. Kt. to Q. 4th sq.
18. Q. to Q. 2d sq. Q. R. P. two sq.
19. K. Kt. to Q. B. 3d sq.—Equal game.
VARIATION ON MOVE 5.
WHITE. BLACK.
5. K. P. advances. Q. to K. 2d square,
6. Q. B.P. takes P. K. B. checks.
7. Q. B. interposes ! B. takes B. chg.
8. Q. Kt. takes B. Q. P. onesq.
9. Q. to K. 2d sq. Q.P. takes P.
10. Q. P. takes P. K. Kt.to Q. 2d sq.

1 This is a weak move; yon should retire K. to B. sq.,

he

then play K. Kt. to your K. 4th sq., place your Queen at

4th sq.
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WHITR. BLACK.
15. Castles. K. R. K. B. P. two squares.
16. K. P. takes P. Q. takes P.
White has the better situation.
VARIATION ON MOVE IIL
WHITE. : BLACK.
3. teiiemecoeccee weeene. Q. toadv. K, R. 4th aqu
4. Q. to K. 2d sq. K. Kt. to B. 3d &q.
5. Q. P. one sq. K. Kt. to adv. Kt. 4th &
6. K. Kt. P. one sq. Q. to K. B. 3d sq.
7. K. Kt. to R. 3d sq. Q. P. one sq.
8. K. B. P. one sq. K. Kt. to adv. K. 3d sq.
9. B. takes Kt. B. takes B.
10. Q. takes B. B. takes Kt.
11. Q. Kt. to Q. 2d sq. The same.
‘White has rather the advantage.
SIXTH OPENING.
WHITE. BLACK.
1. K. P. two squares. Q. B. P. two sq.
2. K. B. P. two sq. Q. Kt. to B. 3dsq.

3. K. Kt. to B. 3d sq. K. P. one sq.
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WHITER. BLACK.

4. Q. B. P.one square. = Q. P. twosq.
5. K. P. one sq. K. B. P. two sq.
6. Q. P.two sq. K. Kt. to R. 3d sq.
7. Q. B. to K. 3d sq. Q. to Q. Kt. 3d sq.
8. Q. to Q. 2d sq. K. Kt. to B. 2d sq.
9. Q. P.takes Q. B.P. K. B. takes P.
10. Q. B. takes B. Q. takes B.
11. Q.Kt. to R.3d sq. K. Kt. P. two sq.
12. K. Kt. P. one &q. K. R. P. two sq.
13. K. R. P. two sq. K. Kt. P. takes B. P.
14. K. Kt. P. takes P. K. R. to Kt. sq.

15. K. Kt. to adv. Kt. 4th sq. K. Kt. to R. 3d sq.

16. Q. Kt. to B. 2d sq.- K. Kt. to adv. Kt. 4th sq.
17. Q. Kt. to Q. 4th sq. K. to K. 2d sq.

18. K. B.to K. 2d sq. Q. B. to Q. 2d sq.

19. Castles. K. R. Q. R. to Q. B. sq.

20. Q. R. to Q. B. sq. Even Game,

‘We now come to PaILtpor’s examination of the different

Gambit Openings, beginning with those commonly classed
under the head of the Kine’s GamsiT.—ED.

E 2



10
11
12

1 This Kt. may also be played to Kt. 5th sq., and the
then becomes exceedingly critical. Black will, however, g

PHILIDOR ON CHESS.

GAME L

THE KNIGHT’S GAMBIT.

WHITE.

. K. P. two squares.
. K. B. P. two.sq.

. K. Kt. to B. 3d sq.
. K. R. P. two sq.

. Q. P. two sq.

. K. Kt.to Q. 3d sq.
. Q. Kt. to B. 3d sq.
. Q. to K. 2d sq.

. K. Kt.P. takes P.
. Q. takes P.

© 0N D D e

. Kt. to adv. K. 4th sq.?
. K. B. to Q. B. 4thsq.

BLACK.
The same.

P. takes P.

K. Kt. P. two sq.
K. Kt. P. advances.
K. R. P. two sq.?
K. R.toR. 2d sq.3
Q. P. one sq.

Q. to K. 2d sq.

K. Kt. to B. 3d sq.
Gambit P. moves.
K. Kt. P. takes P.

Q. B. toadv. K. Kt. 4th

best of it, if he play the correct defence.
2 He may also play Q. to K. 2d sq.

3 GRrEco, and SaALvio, preferred playing K. Kt. to R. ¢
but I think the move here made (sanctioned also by PoNz1a:

slightly better.



WHITE. BLACK.
13. Q.to K. 3d &q. K. B. to R. 3d sq.
14. K. Kt. to K. B. 4thsq. Q. B.P. one sq.
15. Q. B. to Q. 2d sq. K. B. takes Kt.
16. Q. takes B. Q. P. one sq.
17. K. B. to Q. 3d sq. K. Kt. takes P,
18. Q. Kt. takes Kt. K. B. P. two sq.
The second Player ought to win.
FIRST VARIATION.
Moves 1 to 4 as before.
WHITE. BLACK.

B. ceverecsansrcsrsasas., Ko Kt to B. 3d sq.

6. Q.P.twosquares. [A] Q.P. onesq.

7. K. Kt. to Q. 3d sq. K. Kt. takes P.

8. Q. B. takes P. Q. to K. 2d sq.

9. Q.to K. 2d sq. K. B. to K. Kt. 2d sq.
10. Q. B. P. one sq. K. R. P. two sq.
11. K. Kt. P. one sq. Q. P. one sq.

12. K. B. to K. Kt. 2dsq. K. B. P. two sq.
13. Q. Kt. to Q. 2d sq. Q. B. to K. 3d sq.
14. Castles. K. R. Q. Kt. to B. 3dsq.
15. K. to R. 2d sq. Castles. K. R.
Black has preserved the Pawn.

PHILIDOR ON CHESS.

41
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(A]
WHITE. BLACK.

6. K. Kt. takes Kt. P. (a) Kt. takes K. P.

7. Q. to K. 2d square. The same.

8. Q. Kt. to B. 3d sq. K. Kt. to adv. Kt. 3d sq.

9. Q. takes Q. chg. B. takes Q.
10. K. R. to R. 2d sq. Q. P.two sq. (B)
11. K. Kt. toadv. K. 4theq. Q. B. P. one sq.
12. Q. P. two sq. K. Kt. to K. B. 4th sq.
13. K. Kt. to B. 3d sq. K.B.to Q. 3d sq.
14. K. B.to Q. 3d sq., &e.

Black will not succeed in maintaining the Gambit P.

(a) If youplay K. B. to Q. B. 4th sq. he answers with
Q. to K. 2d sq.

(8) If he move Kt. to K. B, 4th sg., you play Q. Kt. t
adv. Q. 4th sq.; and if he then take K. R. P. with B. chg.
you retake with R., threatening to take Q. B. P.

'

SECOND VARIATION.

Moves 1 to 4 as in Game I.

‘WHITE. BLACK. -
5. teetesesecnsnienns ooe . Q to K. 2d sq.
6. Q. P. two squares. (¢) Q. P. one sq.
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WHITE. BLACK.
7. Q. P. two sq. Q. P. one sq.
8. K.Kt.toQ. 3dsq.  Gambit P. onesq.
9. K. Kt. P. advances. Q. checks.?
10. K. to K. B. 2d sq. ? Q. to adv. Kt. 2d sq. chg

1 After this check, he ought speedily to lose the Game.
best move was Q. to K. 2d sq., but, even then, I should p:
your position; ex. gr.

WHITE. BLACK.
9. o..-..oona..--o.ioiooo.-Q. wK.ﬂdsq.
10. Q. Kt. to B. 3d sq. Q. B.P. onesq.

11. K. R. P. one sgq., or K. to B. 2d 8q., and will regain
Gambit Pawn, with the superiority in position.

2 This is clumsy, you should rather play thus:

WHITE. : BLACK.

10. K. to K. square.

A player who had given this

check, would now be almost

certain to attack K. R.; in

that case, you retreat Kt. to

K. B. 2d sq., and win the

Queen on the following

move, by playing K. B. to

B. sq. If, however, seeing

the danger he is in, Black

play Q. to K. R. 4thsq.
11. K. Kt. to K. B. 4th sq. Q. to Q. R. 4th sq. chg.
12. Q. B.to Q. 2d sq. . .

His best move is now Q. to

Q. R. 5th sq., on which you

play Q. Kt. to R. 3d sg.,

and get the best of the game.

If, instead, he play Q. to Q. Kt. 3d sq.
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‘WHITE. BLACK.
11. K to K. 3d sq. K. Kt. to Kt. sq.?
12. K. Kt. to K. B. 4th sq. K. B. to R. 3d sq.
13. K. B. to K. B. sq. Q. takes R.
14. K. B.checks. Q. B. P. interposes.
15. Q.takes Q., and ought to win.

WHITE. BLACK.

13. K. Kt. toadv. Q. 4thsq. Q. takes Q. P.
14. K. B. to Q. 3d sq. Q. to Q. B. 4thsq. (If)
15. Q B. to K. 3d sq.

If he play Q. to Q. B. 3d sq.

you win the Queen for K. B.,

by moving K. B. to Q. Kt.

5th sq.; and if Q. to Q. R. 4th sq. chg.
16. Q. Kt. P. twosg. Q. to R. 5th sq.
17. K. B. checks, and on the Q. taking B., you win Q. by taking

Q. B. P. with Kt.

1 The second Player should check with Kt., and, on your
taking it, check with K. B., and castle the next move.



1.
2.
3.
4.

© PN

10.
11.
12,
13.
14.
15.
16.

PHILIDOR ON CHESS.
GAME Il
On the same Gambit.
WHITE. BLACK.
K. P. two squares. The same. .
K. B.P. two sq. P. takes P.
K. Kt. to B. 3d sq. K. Kt. P. two sq.

K.B. to Q. B. 4th sq.

K. R. P. two sq.
Q. P. two sq.
Q. B. P. onesg.

. Q. to K. 2d sq.
. K. Kt. P. one sq.

R. P. takes P.

R. takes R.

Q. B. takes P.

Q. B. takes B.

Q. Kt. to Q. 2d sq.
Castles.

R. to K. Kt. sq.

K. B. to K. Kt. 2d sq.
K. R. P. one sq. (a)

Q. P. one sq.

The same.

Q. B. to adv. K. Kt. 4ths
P. takes K. Kt. P.

R. P. retakes.

B. takes R.

K. B. to K. B. 3d sq.
Q. retakes.

The same.

Castles.

Q. to adv. K. B. 4thsq.

1 This is giving away the Gambit Pawn ; heshould rather |
Q. to K. 2d sq., as advised by ERcoLE DEL Rio, the once a
NYMOUS MODENESE.
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WHITE. BLACK.
13. K. B. to Q. sq. " Q.B.toadv. K. Kt. 4th
14. B. takes B. Q. takes B.
15. K. R. P. one sq. Q. to K. Kt. 3d sq.
16. Q.to K. 2d sq. Q. Kt. to Q. 2d sq.
17. K. Kt. to K. sq. Q. R.to K. 8q.
Black has the better position.
[A]
WHITE. BLACK.

. K. B.to Q. B. 4th square. Q. P. one sq. (c)

9. K. Kt. to Q. 3d &q. K. Kt. to R. 4th sq.
10. Q. to K. sq. Q. toK. B. 3d sq.
11. K. P. advances. Q. P. takes P,

12. Q. takes P. chg, Q. takes Q.
13. Kt. takes Q., &c. &c.
In the second place.
WHITE. BLACK.

7o ceeceinienecisnracaess K. to Q. 8q.

8. Q. P. two aqdares. (d) Gambit P. moves. (e)

9. Q. Kt. to B. 3d sq. Q. P. one sq. !

. K. Kt. to Q. 3d sq. P. takes P. chg.

! Black can also take P. with P. checking.
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THIRD VARIATION.

Moves 1 to 7 as in Game III.

WHITE. BLACK.

8. K. takes Q. Q. P. one 8q.

9. Kt. takes K. B. P. Q. P. moves.
10. B. takes P. Kt. takes B.
11. Kt. takes R. K. Kt. to B. 3d sq.
12. Q. P. ome sq. K. B. to K. Kt. 3d sq.
18. Q. B. P. one 8q. B. takes Kt.
14. Q. B. takes P. Q. B. P. one dq.

15. Q. Kt. t0 Q. 2d sg. In this position White has
better game; he should not Castle, but eh

play up the King !

FOURTH VARIATION.

Moves 1 to 6 as before.

WHITE. BLACK.
7. Q. Kt. to B. 3d 8q. (a) Q. P. one square.
8. K. Kt. to Q. 3d sq. Gambit P. advances.
9. K. Kt. P. advances. Q. checks.

! PrILIDOR forgets that the King, having moved, could
Castle.



10.
11
12
13
14
15

h o
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WHITE.
. K.toB. 2d sq®
. K. to K. 3d sq.
. Kt. interposes.
. Q. to K. B. sq.
. K. B. takes Q.
. K. R. P. one sq.

BLACK.

Q. to adv. Kt. 2d sq. chg.
K. B. checks.

Q. B. P. one sq.

Q: takes Q.

K. B. to Kt. 2d sq.

K. R. P. two sq.

16. Q. P. two sq.—White must not take K. Kt. P.—He has
the better Game, though a Pawn less 2,

(a) If you take K. B. P. with Kt., he pushes up Q. P.
two 8q. )

1 As I have before observed, on a position nearly similar to
this, you may here move K. to K. sq., for if he attack R. with Q.
you retreat Kt. and force Q. the next move with K. B.

3 [t would be difficult to prove White's superiority in position.
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GAME IV,

THE BISHOP’S GAMBIT 1,

WHITE. BLACK.

1. K. P. two squares. The same.

2. K. B. P. two sq. P. takes P,

3. K. B.to Q. B. 4thsq. Q. checks?. (a)

4. K.to B. sq. K. Kt. P. two sq. [A]

5. K.Kt toB.3dsg*.  Q.to K. R. 4th sq. (5)

6. Q. P. two sq. Q. P. one sq.

7. Q. B. P. onesq*. Q. B. to adv. Kt. 4th sq 5.

1 The Bishop’s Gambit is the finest opening we have, next t
the Muzio, but the strongest mode of attack is very little known
I think, that if the best moves are played on each side, the gam
ought to be drawn. SARRATT'S defence was taken by him fror
STAMMA, an author generally under-rated. As his is not a de
fence against the best mode of attack, it proves nothing.

3 We see by PHILIDOR’S note appended to this move, that h
reprobates the check, and prefers playing K. B. P. two 8q. Sar
RATT and others were of the same opinion, which I do not hesitat
to pronounce erroneous ; being convinced, from experience, ths
checking is the only move likely to lead to a safe defence.

3 Not so strong as Q. Kt. to B. 3d sq., although the latter is
move that does not immediately develope itself.

¢ A weak move ; should still bring out Q. Kt.

5 This attack is premature; after White’s last move, whicl
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(a) This is the best move for the defence; it i
better than checking with Q.

(5) 1 make White take P., to show that he canno
wards recover the Game: his best move is Q. to K.
square,
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WHITE. BLACK.
16. Kt. takes Kt. chg. Kt. takes Kt.

17. B. takes Kt. B. takes B.

18. Q. to K. 4th sq. K. Kt. P. ons 8q.
19. K. Kt. to adv. K. 4th sq. B. takes Kt.

20. P. takes B. Q. R. to Q. sq. (@

21. K. R. to adv. K. B. 3d 8q.Q. to Q. 2d sq.

22. R. takes Kt. P. chg. P. takes R.

23. Q. takes P. chg. K. to R. sq. (3)

24, Q. takes P, chg. and draws by perpetual check.

(a) If he attack Q. with B., you take B. with R.

) If he interpose Q., you take B. with Q.7; but
persist in moving K. you cannot do better than drs
Game,

1 8till Black would get a fine game.
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WHITE.
K. Kt.to B. 3d sq.

. Q. P. two sq.
. K. to B. 2d eq.

K. B.to Q. 3d sq.
Q. B. takes P.

. Q.to K. 2d eg.
10.
11,
12.
13.
14.
15.
16.
17.
18.
19.

Q. B. P. two sq.
Q. Kt. to B. 3d sq.
K. R. P. one sg.
K. Kt. P. two sq.

K. Kt.toadv. K. 4th sq.

P. takes B.
Q. R. to Q. &q.
K. Kt. P. advances.

Q. to adv. K. R. 4theq.
Q. to adv. K. R. 3d sq.
. K.to Kt. 2d sq.
21.
22.
23.

Kt. to K. 4th sq.
Kt. checks.

BLACK. °
Q. takes P.
Q. to adv. K. 4th sq. ¢
K. B.to K. 2d sq.
Q. to Q. B. 3d aq.
Q. B. to K. 3d sq.
Q. to Q. 2d sq.
Q. B. P. one sq.
K..Kt. to B. 3d &q.
Castles.
K. B. to Q. 3d sq.
B. takes Kt.

K. Kt. to K. sq.
Q. to K. 2d eq.
Q. Kt. to Q. 2d sq.
K. Kt. P. one sq.
Q. checks.
Q. Kt. takes K. P.
Q. to adv. Q. 4th sq.
Kt. takes Kt.

P. takes Kt., and then Mates with Q.
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15.

16.

17.
18.
19.

21.
22.
23.
24.
25,
26
27.
| 28.

29.
30.
31,

32.
33.
34.
35.

36.

37.
38.
39.
40.
41.
42.

PHILIDOR ON CHESS.

WHITE. '
Q. to K. 2d sq.
Q. takes Kt.
Q. takes Q.
Q. R. to K. sq.
K. Kt. checks.

. Q. R. takes Kt.

K. R. to K. sq.
Q. B. P. one sq.
Q. R. P. two sq.

Kt. to K. B. 3d sq.

K. to Kt. 2d sq.
Q. R. to K. 2d sq.
Q. R. P. takes P.
K.R.to Q. R. sq.
K. R. to K. sq.
Q. P. one sq.

B. to Q. B. 2d sq.
K. R.to K. R. sq.
Q. Kt. P. one sq.
Q. Kt. P. one sq.
Kt. to Q. 2d sq.
K. R. to K. B.sq.
R. takes P. chg.

K. R. to ad. K. Kt. 3d sq.

K. to Kt. sq.
R. takes R.

K. takes Kt. P.
K. to B. 2d sq.

BLACK.
Kt. takes B.

Q. to Q. Kt. eq.
R. takes Q.

K. to Q.2d sq.
Kt. takes Kt.

K. to Q. 3d sq.

Q. Kt. P. two sq.
Q. R. to K. sq.
Q. R. P.one sq.
K. Kt. P. two sq.
K. B. P. one sq.
K. R.P. one sq.
P. takes P.

Q. R.to Q. R. sq.
B. to Q. 2d sq.

Q. B. P. one sg.
K. R. P. one sq.
K. R. to R. 4th &q.
Q. R. to K. R. sq.
K. Kt. P. one sq.

K. R. to K. Kt. 4th sq

K. Kt. P. advances.
K.to Q. B. 2d sq.
K. R. P. checks.

K. Kt. P. one sq.
R. P. checks.

P. Queens, chg.

R. to B. sq. chg.
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WHITE. BLACK.
7. tieeiivecsncacsessese B. to K. 2d square.
8. K. B.takes P. chg. K. takes B. [A.}
9. Kt. toadv. K. 4thsq. chg. K. to K. 3d sq.

10. Q. checks. K. takes Kt.

11. Gives Checkmate in two moves.

[(A]
WHITE. BLACK.
B teeerriraneenieee s +.K. to B. square.
9. K. Kt. to adv. K. 4th sq. K. Kt. to B. 3d sq.
10. K. B.to Q. Kt.3dsq. Q. to K. sq.
11. K. Kt. to ad. K. B. 2d sq. K. R. to Kt. sq.

12. K. P. advances. Q. P. two sq.

13. P. takes Kt. P. takes P.

14. B. takes P. Q. B. to adv. Kt. 4th s
15. Q. to K. sq. Q. B.to K. R. 4th sq.
16. Q. P. two sq. B. takes Kt.

17. Q. B. checks. R. interposes.

18. Q. Kt. to B. 3d sq. B. takes B.

19. Kt. takes B. Q. to K. B. 2d sq.

20. Kt. takes B. Q. takes Kt.

21. Q. takes Q. chg. K. takes Q.

22. B. takes R., and wins.






17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.

PHILIDOR ON CHESS.

WHITE. BLACK.
Kt. takes Kt. K. B. P. takes Kt.
Kt. takes Gambit P. Castles. K. R.
Q. to Q. 2d sq. K. R. P. one sq.

Q.R. toadv. Q. B. 4thsq.Q. R. to Q. sq.
K. B.to Q. R. 4thsq. K. Kt. P. two sq.

Q. B. to K. 3d sq. R. takes R. chg.
Kt.-takes R. Q. to Q. 3d sq.
Q. to K. R. 2d sq. K. to Kt. 2d sq.
Q. takes Q. R. takes Q.

Q. R. P. one sq. K. to Kt. 3d sq.
Q. Kt. P. two sq. K. R. P. one sq.

Q. Kt. P. advances. Kt. to K. 2d sq.
R. to adv. Q. B. 2d sq. R. to Q. 2d square. _

R. takes R. B. takes R.

K. to Kt. 2d sq.! K. R. P. one sq.
Q.B.to K. B.2dsg. K. toR. 4th sq.

K. B. checks. B. interposes.

B. takes B. chg. K. takes B.

Kt. to K. 3d sq. chg. K. to adv. B. 4th sq.
K. to R. 3d sq. K. to adv. K. B. 3d sq.
Kt. to Kt. 4th sq. Kt. to K. B. 4th sq.

! You may now get a fine game; ex. gr.

WHITE. BLACK.
31. Q. Kt. P. advances. B. to Q. B. 3d sq.
32. P. takes P. Q. Kt. P. two sq.
33. K. B. takes P. B.to Q. R. sq.

34. Kt to Kt. 3d sq., and ought to win.
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WHITE. BLACK.

38. B. to K. Kt. sq. K. P. advances.

39. Q. R. P. one sq. K. P. advances.

40. B.to K. B. 2d sq. Kt. takes Q. P. and wins.

THIRD VARIATION.

Moves 1 to 4 as before.

WRITE. BLACK.

5. K. to B. sq. (a) Q. P. one sq.
6. Q. P. two sq. "Q.toK.B.3dsq.
7. K. P. advances. Q. P. takes P.

8. Q. P. takes P. Q. to K. 2d sq.

9. Q. B. takes Gambit P. B. to adv. K. Kt. 4th sq.
10. Q. Kt. to B. 3d sq. Q. B. P. one sq.
11. Q. Kt. to K. 4th sq., and ought to win.

(a) This is the best move, as your opponent will find it
impossible to preserve the Gambit Pawn ; and in taking it,
you will have an irreparable attack.



2

W W T O b W

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.

PHILIDOR ON CHESS.

GAME VIIL

THE QUEEN’S GAMBIT.

WHITE.
. Q. P. two squares.
. Q. B. P. two sq.
. K. P. two sq.
. Q. P. one sq.?
. Q. Kt. to B. 3d sq.
. K. B. P. one sq.

. Q. Kt. to R. 4th sq.

. R. takes B.

. Kt. to Q. B. 3d. sq.
K. B. takes P.

P. takes P.

Q. B. to K. 3d sq.
Q. to Q. 2d sq.

Q. B. takes Kt.
Castles. Q. R.

Q. to K. 3d sq.
Kt. to K. 4th sq.
P. takes B.

K. R. to adv. Kt. 4th sq.

BLACK.
Q. P. two sq.
P. takes P.
The same.
K. B. P. two sq. (a)
K. Kt. to B. 3d sq.
K. B. to Q. B. 4th sq.
B. takes Kt. (b)
Castles.
P. takes P.
P. takes K. B. P.
Q. B. to K. B. 4th sq.
Q. Kt. to Q. 2d sq.
Q. Kt. to Kt. 3d sq.
Q. R. P. takes B.
K. to R. sq.
K. Kt. P. one sq.
Q. to Q. 3d sq.
B. takes Kt.
K. R. to K. sq.

! PonziaNI prefers taking K. P. with Q. P.
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WHITE. BLACK.
45. K. takes P. K. R. P. advances.
46. K. toadv. Kt. 3dsq. K. R. P. advances.
47. Q. R. P. advances. R. takes P. (d)

48. R. takes P. (e) R.to K. R. 2d sq.

49. P. two sq. P. advances.

50. R. to K. R. 2d sq. K. to Kt. 2d sq.

51. P. advances. K. to Kt. 3d sq.

52. K. to adv. Q. B. 3d sq. K. to Kt. 4th sq.

53. P. advances. K. to adv. Kt. 4th sq.

54. P. advances. R. takes P., and then a¢
K., drawing the G

(a) If Black play any other move, you advance K
two sq. '

(6) If he play B. to your Q. 4th sq, you attack
K. Kt., and exchange next move.

(¢) If you were to take his P., you would lose.

(d) If, instead of this move, he play R. to Kt. s
would win by exchanging R. for P.

(¢) You would lose if you took the Rook.

FIRST VARIATION.

WHITE. _ BLACK.
1. Q. P. two squares. The same.
2. Q. B. P. two sq. P. takes P.
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WHITE. BLACK.
25. K. R. to Q. 2d sq. Q. P. checks.

26. K. to B. 2d sq. Q. B. to adv. K. 4th
27. Q. R.to K. sq. K. to Q. 4th sq.

28. K. R. to K. 2d sq. R. to K. sq.

29. K. Kt. P. advances. B. takes B.

30. R. takes R. P. takes P.

31. K. R. P. one sg. ! Q. B. P. one sq.

32. K. R. toadv. K. R. sq. Q. P. one sq.

33. K. to K. 3d sq. K. B. to Q. B. 4th sc
34, K. to B. 4th sq. Q. P. advances, and

SECOND VARIATION.

WHITE. BLACK.
1. Q. P. two squares. The same.

2. Q. B. P. two sq. P. takes P.

3. K. P. two sq. Q. Kt. P. two sq.
4. Q. R. P. two sq. Q. B. P. one sq.

1 PHILIDOR makes the second player win, merely thr
bad moves of the White, who should now play thus:

WHITE. BLACK.
31. R. to adv. Q. sq. Q. P. advances.

32. Q. R. to adv. K. 2d sq. Q. P. advances.

33. Q. R. to adv. Q. 2d sq. P. becomes Q.

34. R. takes B. chg. K. moves.

35. R. takes Q. B. takes R.

36. R. takes B., and will certainly win.
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THIRD VARIATION.

WHITE. BLACK
1. Q. P. two squares. The same.
2. Q. B. P.two sq. P. takes P.
3. K. P. two sq. The same.
4. Q. P. takes P. 1. Q. takes Q.
6. K. takes Q. Q. B. toK. 3d sq.?
6. K. B. P. two sq. K. Kt. P. one sq.
7. Q. Kt.to B.3d sq. * Q. Kt. to Q. 2d sq.
8. K. R. P. one sq. K. R. P. two sq.
9. Q. B.toK.3dsq. Castles.
10. K. to Q. B. 2d sq.* K. B. to Q. B. 4th sq.
11. B. takes B. Kt. takes B.
12. K. Kt. to B. 3d sq. Q. B. P. one sq.
13. K. Kt.toad. K. Kt. 4th sq. Q. Kt. P. two sq.
14. K. B.to K. 2d sq. K. Kt. to K. 2d sq.

1 I believe this to be the best mode of play.

2 The best move now is Q. Kt. to Q. 2d sq. ; if you t]
vance K. B. P. two 5q. he marches Kt. to Q. B. 4th sq.,
instead ;

WHITE. BLACK.
6. P. to adv. K. 3d sq. P. takes P,
7. Bishop takes P. K. P. advances, and the g
equal.

3 Q. Kt. to Q. 2d sq. is slightly stronger.

4 A very weak player might now commit the error of
Q. R. P,, on which Black moves Q. Kt. P. one sq., and ¢
the Bishop.
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36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.

47

WHITE. BLACK.
K. to Q. 4th sq. K. to B. 2d sq.

K. to Q. B. 3d sq. R. checks.

K. to Q. Kt. 4th sq. R. takes P.

R. takes P. K. to K. 2d sq.

Q. B. P. one sq. K. Kt. P. two sq.

R.toadv. Q.R.2dsq. K. to Q. eq.

K. to adv. Q. Kt. 4th sq. Kt. P. advances.
K. toadv. Q. B.3dsq. R. checks.

P. interposes. P. takes P.

P. takes P. K. to K. sq.

R. toadv. K. Kt. 2d sq. R. to K. R. 3d sq.
. K. to adv. Q. B. 2d sq., and will win.
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WHITE.

BLACK.
15. K. to Q. 2d eq. Q. Kt. to Q. 2d sq.
16. R. takes R. chg. R. takes R.
17. Q. to K. sq. R. to adv K. B. 2d &q.

Black has a winning Game.
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WHITE. BLACK.

5. B. to K. Kt. 3d sq. K. to B. &q. [B.]

6. R. to K. Kt. 4th sq. K. to K. sq.

7. R. to Q. B. 4th sq. R. toadv. Q. sq. [C.]

8. B. to K. R. 4thsq. K. to B. sq.

9. B. toadv. K. B. 3d 8q. Checks at K. 8th sq.
10, B. interposes. K. to Kt. sq.
11. R. to K. R. 4th sq , and will win.

[A]
WHITE. BLACK.

4. ceeeriiiiisciieseeses Ko to B.sg.

5. R.toadv. K.R.2dsq. R. toadv. K. Kt. sq-

6. R. to adv. Q. B.2d sq. K. to Kt. sq.

7. R.to adv. Q. B. sq. chg. K. to R. 2d sq.

8. Checks at adv. K. R. sq., and wins R.

(B]

WHITE. BLACK.
ceeeiciessvssecessaes R to adv. K. B. 3d sq.
. B. to adv. Q. 3d square. Checks at K. 6th sq.

. B. interposes. R. to adv. K. B. 3d sq.
. R. to adv. K. 2d sq. chg. K. to B. sq.

. R.toadv. Q. B.2d sq. K. to Kt. sq.

10. R.toad.K.Kt.2d sq. chg. K. to B. sq.

0 ® N OD:
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WHITE. BLACE.
11. R. to K. Kt. 4th sq. K. to K. sq.
12. B. to K. B. 4th sq., winning the game.

el
WHITE. BLACK.
7+ cesessassesses savasss. K. to B.square.
8. B.toadv. K. 4thsq. K. to Kt. sq.
9. R. to K. R. 4th sq., and wins.

The following example shows how to force the Black to
take up a position similar to that justgiven.! (PaiLipor.)

No. II.

POSITION OF THE PIECES.

Warre. K. at K. 4th sq.—B. at K. 3d sq.—R. at Q. R.
2d sq.
Brack. K.atK. 3d sq.—R. at Q. 2d sq.

WHITE. BLACK.
1. R. to Q. Kt.2d square. R.to Q. sq.
2. B. to K. B. 4th sq. R. to K. sq.

! From the immense number of moves which may be chosen
at the option of Black, I think it would be found utterly impos-
sible to force a good player to move as in this example.
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WHITE. BLACK,
3. R. checks. " K.toB. 2d 8q. chg.
4. K. to adv. K. B. 4th sq. R. to adv. K. 2d sq.
5. R. to Q. Kt. sq. R. to adv. K. B. 2d sq.
6. R. checks. K. to B. sq.
7. K. to K. 4th sq. K. to K. sq. [A.]
8. B. toadv. K. 4th sq. R. to K. B. 2d sq.
9. R. checks. K. to K. 2d sq.
10. K. to adv. Q. 4thsg.  R.to adv. K. B. 8q.
11. R.toad. Q. Kt.2d sq. ch. K. to K. sq.
12. K. to adv. K. 3d sq., and the Position becomes simil
to No. L. |
[A]
WHITE. BLACK.
TP TP PN K. to Kt. sq.
8. B. to adv. K. 4th square. R. to K. B. 2d sq.
9. R. to Q. Kt.sq. R.to adv. K. B. 2d. sq.
10. K. to adv. Q. 4thsq. K. to B. 2d sq.

11.
12.
13.
14.
15.
1.

R. checks. K. to Kt. 3d sg.
R.toad. K. Kt. 2d sq. ch. K. to R. 3d sq.

K. to adv. K. 3d sq. R. toadv. K. 2d sq.

R. to K. Kt. sq. R. to adv. K. B. 2d sq.
B.to adv. K. B.3d sq. K. to R. 4th sq.
R.toad. K. Kt.4th sq. ch. K. to R. 3d sq.

17. K. to adv. K. B.2dsq. R. to adv. Q. B. 2d sq.

18

. R. toadv. Q. Kt. 4th 8q. R. checks.
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WHITE. BLACK. -
14. K. to adv. Q. 3d sq. K. to K. sq.
15. B. checks. K. to Q. sq.

16. B. toadv. K. B.2dsq. K. to Q. B. sq
17. Kt. to adv. Q. B. 4th &q. K. to Q. sq.

18. Kt.toad. Q.Kt. 2d sq.ch. K. to Q. B. &q.
19. K. toadv. Q. B. 3d sq. K.to Q. Kt. sq.
20. K. to adv. Kt. 3dsq. K. to Q. B. sq.
21. B. checks. K. to Kt. sq.
22. B. to adv. Q. 2d sq. K. to R. sg:

23. Kt. to adv. Q. B. 4th sq. K. to Q. Kt. sq.
24. Kt. to ad. R. 3d sq. chg. K. to R. sq.

25. B. gives Checkmate.

(A]
WHITE. BLACK.
11, tieieeesencasesaneess. Ko to Q. sq.
12. K. to adv. K. 3d square. K. to Q. B. 2d sq.
13. Kt. to adv. Q. 2d sq. K. to Q. B. 3d sq.

14. B. to Q.3d sq. K. to Q. B. 2d sq.
15. B. to K. 4th sq. K. to Q. sq.
16. K. to adv. Q. 3d sq. K. to K. sq.
17. B. checks. K. to Q. sq.

18. B.toadv. K. B. 2dsq. K. to Q. B. sq.
19. Kt. to adv. Q. B. 4th sq., and forces the Mate, as in
foregoing mode of play.
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No. IV.

TO MATE WITH A SINGLE ROOK.

POSITION OF THE PIECES.

Tmire. K. at K. 4thsq.—R.at K. R. sq.
race. K. atK. 3d sq.

WHITE. BLACK.
. R. checks. K. to K. 2d sq.
. K. to adv. K. 4th square. K. to Q. 2d sq.
. R. to adv. K. Kt. 3dsq. K.toQ. B. 2d sq.
. K.toadv. Q. 4thsq. K. to Q. Kt. 2d sq.
. K. toadv. Q. B. 4th sg. K. to Q. R. 2dsq.
In this position, Pa1LIDOR forces Checkmate in 9 moves ;
1t the Game may be considerably shortened, by playing as
lows: (Eprror.)
WHITE. BLACK.

i. R. to adv. Kt. 2d sq. ch.

If Black play to R. 3d sq.

you move R. to K. B. 3d

8q., and Mate next move.

If, again, he move K. to

R. sq., you advance K.

to adv. Kt. 3d sq., and

then Checkmate. Last-

ly, playing K. to Q. Kt. sq.

K 2

Wy o W ww —
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WHITE. BLACK.
7. K. to adv. B. 3d sq. K. to R. sq.
8. K. to adv. Kt. 3d sq., giving Mate next move.

No. V.

THE QUEEN AGAINST A ROOK.

POSITION OF THE PIECES.

Warre. K. at adv. Q. 3d sq.—Q. at K. 4th sq.
Brack. K. at adv. Q. Kt. 3d sq.—R. at adv. Q. B. 2d sq.

WHITE. BLACK.

. K. to adv. Q. 4thsquare. K. to adv. Q. Kt. 2d sq.
. K. to Q. 4th sq. K. to adv. Q R. sq.

. K. to Q. 3d sq. R. to adv. Q. Kt. 2d sq.
. Q. to R. 4thsq. chg. K. moves.

K. to Q. B. 3d sq. R. to adv. K. R. 2d sq.
Q. toad. Q. Kt. 4thsq.ch. K. to adv. Q. R. sq.

. Q.toad. Q. R. 3d sq. chg. K. moves.

. Q.toad. Q. Kt.3d sq. ch. K. to adv. Q. R. 2d sq.
. Q.toad. Q. R. 2d sq. chg. K. moves.

. Q. checks, and thqn takes R., &c.

I A A

—
(=
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WHITE. BLACK.
19. K. to adv. Q. 2d sq. R. to Q. B. 4th aq.

20. Q. to K. 4thsq. chg. K. to Kt. 3d sq.
21. K. takes P. R. to adv. Q. B. 2d sq.

This Game now resolves itself into the position last given
—See No. V.

[A]
WHITE. BLACK.
5. cestenennn ..R.to K. R. 4th square.
6. Q.toadv Q. Roqcth to adv. Q. B. 4th sg.
7. Q. to Q. R. 4th sq. chg. K. toadv. Q. B. 3d sq.
8. Q. to R. 3d sq., checks, and wins P., &c.

(B]
‘WHITE. BLACK.
| ) P seesse.. K. to Q. B. 2d square.
12. Q. to Q. R. 4th sq. R. to Q. B. 4th sq.
13. Q. to ad. Q. R.2d sq.ch. K. to Q. B. 3d sq.
14. K. toadv. K. 2d sq., winning easily.
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No. VIL

DRAWN GAME WITH THE SAME PIECES.

POSITION OF THE PIECES.

Waire. K. at adv. Q. 4th sq.—Q. at Q. Kt. 3d sq.
Brack. K. at Q. sq.—Q. P. unmoved.—R. at K. 3d sq.

WHITE. BLACK.
1. Q. to ad. Q. Kt. 8q. chg. K. moves.
2. Q. toadv. K. Kt. square. R. to Q. B. 3d sq.
3. K. toadv. K. 4thsq.  R.to K. 3d sq. chg.
4. K. to adv. Q. 4thsq.—Drawn Game.

No. VIIL

A ROOK AND PAWN AGAINST A BISHOP.

POSITION OF THE PIECES.

Wiarre. K. at K. 4th sq.—R. at Q. sq.—Pawn at Q. 4th sq.
Brack. K. at K. 3dsq—B.atQ.B. 2d sq.
In the first place ;
WHITE. ' BLACK.
1. P. checks. (After this

move the game is
drawn.) K. to Q. 2d sq.
2. K. to Q. 4th square. B. to adv. K. Kt. 3d sq.
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WHITE. BLACK.
3. R.to Q. R. eq. B. to adv. K. B. 4th sq.
4. R. checks. K. to Q. 3d sq.
5. K. to K. 4th sq. B. to adv. K. Kt. 3d sq.
6. R. to adv. K. Kt. 2dsq. B. to adv. K. sq.
.7. R. checks. K. to Q. 2d sq.
8. P. moves. K.to Q. B. 3d sq.
9. K. toadv. K. 4thsq.  B. toadv. Q. Kt. 4th sq.
10. P. moves. disc. ch. K. takes P.
11. K. toadv. Q 4theq.  K.to Q. B. 2d sq., &c.
In the second place ;
WHITE. BLACK.
1. R.to Q. R. square. B. to Q. Kt. sq.
2. R. checks. B. interposes.
3. R. toadv. Q. Kt. 3d sq. K. to Q. 2d sq.
4. K. to adv. Q. 4thsq.  B. to adv. K. Kt. 3d sq.
5. R.toad. Q. Kt. 2d 8q. ch. B. interposes.
6. R.toadv. Q. R. 2dsq. K.to Q. B. sq.
7. K. to adv. Q. B. 3d sq., having a won Game.
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© ®

11.
12,
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.

WHITE. BLACK.

. P. checks. K. to Kt. 2d sq.

. K. to adv. K. 2d sq. R. to adv. K. 2d sq.
. R.to adv. Q. 8q. R. to adv. K. &q.

. R. to Q. 2d sq. R. to adv. K. 3d &q.

R.toK. Kt. 2d sq. ch. K. to R. 2d sq.

K.toadv. K. B.2d 8q. R. checks.

K. to adv. K. sq. R. to adv. K. 3d 8q.
P. advances. R. to adv. Q. 3d sq.
R. to Q. B. 2d sq. K. to Kt. 2d sq.

R.to adv. Q. B. 2d sq. R. to adv. Q. 2d &q.

R. toadv. Q. 2d sq. R. to adv. Q. Kt. 2d sq.
R. to Q. sq. R. checks.

K. to adv. Q. 2d sq. R. checks.

K. toadv. K. 3d sq. R. checks.

R. interposes. R. to Q. Kt. sq.

R. to adv. Q. &q., and evidently wins.

No. X.

SITUATION IN WHICH QUEEN DRAWS AGAIN

QUEEN AND PAWN.

POSITION OF THE PIECES,

Warre, K. at adv. K. Kt. 2d sq.-—Q. at Q. 3d sq.—P.

adv. K. B. 3d sq.

Brace. K. atadv. Q. Kt. 4th 5q.—Q. at Q. B. 4th sq.
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8. Q.toadv.Q.B.4thsq.chg.K. to Q. 2d sg.
9. Q. to Q. 4thsq. chg. K.to Q. B.2d sq.
10 Q. to K. 3dsq. K. to Q. eq.
11. Q. to Q. 3d sq. chg. K. to K. sq.
12. K. to adv. Q. 4th sq.—By repeating these moves, yu
gradually bring your King up to attack the Pawn,
the winning of which gives you the victory.

No. XIL

DRAWN GAME WITH THE SAME PIECES.

POSITION OF THE PIECES.

Waite. K. at Q.B. 4th sq.—Q. at K. 2d sq.
Brack. K.at adv. K. Kt.sq.—P. at K. B. 7th sq.

WHITE. BLACK.
1. Q. to K. Kt. 4th sq. chg. K. to R. 2d square.
2. Q.to K. B. 3d sq. K. to Kt. &q.

3. Q. to K. Kt. 3d sq. chg. K. to R. sq.

The Game is evidently drawn, for, if you take P., you give
Stalemate.
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WHITE. BLACK.
3. Kt.to Kt. 4th sq.chg. K. toadv. Kt. 3d eq.
4. Kt. to Q. 3d eq. Drawn Game.

No. XV.

DRAWN GAME AGAINST A SINGLE PAWN.

POSITION OF THE PIECES.

Waire. K. at K. B. 4th sq.—P. at K. B. 5th sq.
Brack. K.at K. B. 3dsq.

WHITE. BLACK.
1. K. to K. 4th square. K. to B. 2d sq.

2. K. toadv. K. 4thsq. K. to K. 2d sq.

8. P. checks. K. to B. 2d sq.

4. K. toadv. K. B. 4thsq. K. to B. sq. [A.]
5. K. to adv. K. 3d sq. K. to K. sq.

6. K. toadv. K. B. 4th sq. K. to B. 2d sq.

7. K. to adv. Kt. 4thsq. K. to K. sq.

8. K. to adv. Kt.3dsq. K. to Kt. &q.

9. P. advances, chg. K. to B. sq.

Drawn Game.
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In this situation, if Black have to move first, you win;
but White having the move, the Game is drawn, as follows:

 waIrE. BLACK.
1. K. to Q. 4th square. K.toQ.3dsq. (If he had
played K. to B. 4th sq.yu'

would win by moving K.t
K. 3dsq.)

2. K. to Q. 3d sq. K. to Q. 2d sq.

3. K. to K. 3d sq. K. to K. 2d sq.

4. K. to Q. 4th sq. K. to Q. 3d &q.

5. K. to K. 4th sq. K. to K. 3d sq.

By adhering to this plan of defence, Black will be ahle te
keep the opposition, and' consequently draw the Game.
Observe, that if at Move 2 he had played K. to Q. 4th sg,
you would win by moving K. to K. 3d sq.
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WHITE. BLACK.
1. K. to K. 3d square. K. to K. 4th =q.
2. K. to B. 3d sq. K. to B. 4th sq.
3 K.toKt. 3d sq. K. to K. 4th sq.
4. K. to Kt. 4th sq. K. to B. 3d sq.
5. K. to Kt. 3d sc. K. to K. 4th sq.

By continuing to play thus, the Game is drawn; Black
must not advance his Pawn, nor suffer your King to gain
the move.

BLACK. WHITE.
1. K. to K. 4th square. K. to K. 3d sq.
2. K. to Q. 4th sq. K. to K. B. 3d sq.
3. K. to K. 4th sq. K. to K. Kt. 4th sq.
4. K. to B. 3d sq.

If White K. retrograde, Black
must do the same, according
to the above moves; and if

K. to R. 5th sq.
5. K. to B. 4th sq. P. advances.
6. K. to K. 3d sq. K. takes P.

7. K. to Q. 3d sq., winning P., and drawing the game.
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MATCHES AT CHESS,
SELECTED FROM THOSE WHICH WERE PLAYED BY

PHILIDOR,

WITHOUT S8EEING THE BOARD.

FIRST MATCH,

Consisting of three Games played at the same time, by
PHILIDOR, without seeing either of the Boards, at the
Chess Club in St. James’s-street, May 8, 1783.

GAME I
Played against Count BrunL, who had the first move.

WHITE. BLACK.
1. K. P. two squares. K. P. two sq.
2. K. B.to Q.B. 4thsq. Q. B. P. one sq.
3. Q. to K. 2d sq. Q. P. one sq.
4. Q. B. P. one sq. K. B. P. two sq.
5. Q. P. one sq. K. Kt. to B. 3d &q.
6. K. P. takes P. Q. B. takes P.
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WHITE.

. Q. P. advances.
. Q.B.toadv.K.Kt. 4thsq.Q. P. advances.

. K.B.t0 Q. Kt.3deq. K B.to Q. 3d sq.
. Q Kt. to Q. 2d sq.
. K. R. P. one sq.

. Q. B.to K. 3d &q.

. K. B. P. two &q.

. Q. B. P. advances.
. Q. B. P. takes P.

. Q. to K. B. 2d sq.

. K. Kt. to K. 2d sq.
. Castles. K. R.

. K. Kt. to Kt. 3d sq.
. Q. R.to Q. B. sq.

. K. Kt. takes B.

. Q. checks.

. Q. takes Q. chg.

. K. B. takes Kt.

. K. Kt. P. one sq.

. Q. Kt. P. one sq.

. Q. R. to B. 2d sq.

. P. takes P.

. Q. R. takes R.

. R.to Q. R. &q.

. R. takes P.

. K. to B. 2d sq.

. R.to Q. R 2dsq.

. R. takes B.
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BLACK.
K. P. advances.

Q. Kt. to Q. 2d &q.

K. R.P. one sq.

Q. to K. 2d sq.

K. R. P. advances.

Q. R. P. one sq.

Q. B. P. takes P.
Castles. K. R.

Q. Kt. P. two sq.

Q. Kt. to Kt. 3d sq.
K. Kt. P. one sq.

Q. Kt. toadv. B. 4thsq.
P. takes Kt.

Q. interposes.

K. takes Q.

Q. Kt. P. takes B.

Q. R. to Kt. sq.

B. to adv. Q. R. 3d sq.
P. takes P.

K. R.t0 Q. B. sq.

R. takes R.

B. to adv. Q. Kt. 4th sq.
R.to adv. Q. B. 3d sq.
R. to adv. Q. 3d sq.

B. takes Kt.

R. takes Q. Kt. P.
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WHITE.
R. to Q. B. 2d sq.
R. checks.

P. takes P.

R. to adv. Q. 2d sq.
B. takes Kt.

K. to Kt. 2d sq.

R. takes P.

R. to adv. Q. sq.
Q. P. advances.

Q. P. advances.

K. to B. sq.
Doubled P. one sq.
Doubled P. one sq.

BLACK.
P. advances.

K. to Kt. 3d sq.

Kt. to R. 4th sq.

Kt. takes P.

R. toadv. K. B. 3d sq. chg.
R. takes B.

R. to adv. K. B. 3d sq.

R. to adv. Q. 3d sq.

B. P. advances.

R. to adv. Q. 2d sq. chg.
K. to B. 2d sq.

K. P. advances.

K. B. P. advances

PH1LIDOR Wins easily.
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GAME IIL

Played against Mr. BowpLzk, who had the first move.

WHITE.
. K. P. two squares.

. K. B.to Q. B. 4th sq.
. Q. to K. 2d sq.

. Q. B. P. one sq.

. Q. R. P. two sq.

. K. B. P. two sq.

. K. Kt. to B. 3d sq.

. K. B. to Q. R. 2d sq.
. Q. P. one sq.

. Q B. to K. 3d sq.

. Q. Kt. to Q. 2d sq.

. Castles. K. R.

. K. P. advances.

. Q. P. advances.

W 00 T O v bW -

b b e
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BLACK.
Q.B.P.twosq. !
K. P. one sg.

Q. Kt. to B. 3d sq.
Q. R. P. one &q.
Q. Kt. P. one sq.
Q. P. one sq.

K. Kt.to K. 2d &q.
K. Kt. P. one sq.
K. B. to K. Kt. 2d sq.
Q. P. advances.
Castles.

K. B. P. two sq.
K. R. P. onesq.

Q. B. P. advances.

! Throughout these Games it is worthy of remark, that Phili-
dor always varies his openings as much as possible.—Ches
players who can play without seeing the board, know how much
more difficult it would be to conduct two Games at once in which
the first moves were nearly similar.
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WHITE. BLACK.
43. Kt. takes Kt. Kt. P. takes Kt. chg.
44. K. to Kt. 3d sq. B. to adv. Q. &q.
45. Kt. to K. B. 3d sq. B. takes Kt.!?
46. K. takes B. K. to Kt. 2d sq.
47. K.to K. 3d sq. K. to B, 2d sq.
48. K. to Q. 2d sq. K. to K. 2d sq.

49. K. to Q. B. 2d sq. K. to Q. 2d sq.
60. K. to Q. Kt. 2d sq. K. to Q. B. 3d sq.
561. K.to Q. R. 3d sq. K. to Q. Kt. 4th sq.

Drawn Game.

1 PHILIDOR appears to have overlooked the following Moves.

WHITE. BLACK.
L eeeree.. K. to Kt. 2d square.
46. K. to B. 2d sq. The same.
47. If the first player move the Kt., you take P. with B., an
unless he give up this Pawn, he must continue to guard Kt. wit
K., while you proceed to attack Q. B. P., having a won game.
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WHITE.
.. takes B.

. to Q. 4th sq..

. to K. 4th sq.

. R. P. advances.
. to K. 3d sq.

. to Q. 3d sq.

. to K. 3d sq.

. Kt. P. advances.

. to K. 2d sq.
. to B. 2d sq.
.to K. 3d sq.
. takes P,

BLACK.
K. to Q. 3d sq.
K. P. checks.
K. to K. 3d sq.
K. R. P. onesq.
K. to Q. 4th sq.
K. P. checks.
K. to K. 4th sq.
K. R. P. advances.

K. to adv. K. B. 4th sq.

K. to adv. Kt. 4th sq.
K. takes P.
K. takes P., and wins.

123
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SECOND MATCH,

Of three Games played as before, by Priripon, at the
Chess Club, May 10, 1788.

GAME L

Played against Count BrurL, who was allowed the advan-
tage of the first move.

WHITE. BLACK.
1. K. P. two squares. K. P. two sq.
2. K. B. P. two sq. P. takes P.
3. K. Kt. to B. 3d sq. K. Kt. P. two sq.
4. K. B.to Q. B. 4th sq. K. B. to Kt. 2d sq.
5. K.R. P. two sq. K. R. P. one sq.
6. K. R. P. takes P. P. retakes.
7. R. takes R. K. B. takes R.
8. Q. P. two sq. K. Kt. P. advances.
9. Q. B. takes P.! P. takes Kt.

10. Q. takes P. Q. to K. 2d sq.

11. Q. B. P. one sq. K. Kt. to B. 3d sq.

! This is bold play indeed; in contending with the most skilful
player that perhaps ever existed, to sacrifice a Knight!
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40.
41
42
43
44

WHITE. BLACK.
. B. to Q. sq. K. B.to adv. K. R. 4th &
. B. toB. 3d sq. K. B. to ad. K. B. 2d sq. chg.
. K. to Q. 3d sq. K. B. takes P.
. K.to Q. B.3d sq. K. B. takes P.

. K. to Q. Kt. 3d sq. K. B. to adv. Q. 4th sq.

PaILIDOR Wins easily.

(A]
26. B. takes Q. R. P. Q. Kt. P. advances.
27. Q. B. P. advances. K. B. takes P.
28. B. takes P. chg. Kt. takes B.
29. P. takes Kt. chg. K. takes P.

Second player wins the Game.—(Ep1ToR.)
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GAME IIL

Played against Mr. Leycester, who also received th
Pawn and move.

WHITE. BLACK.

1. K. P. two sq. Q. B. P.two sq.

2. Q. checks. P. interposes.

3. Q. takes Q. B. P. Q. Kt. to B. 3d sq.

4. Q. B. P. one sq. K. P. two sq.

5. Q. to K. 3d sq. K. Kt. to B. 3d sq.

6. K. R. P. one sq. Q. P. two sq.

7. K. P. takes P. K. Kt. takes P.

8. Q. to K. 2d sq. K. Kt. to adv. K. B. 4th sq.

9. Q. to K. B. 3d sq. K. B. to R. 3d sq.
10. K. B. toad. Q. Kt. 4th sq. Castles.
11. Q. to K. 4th sq. Q. B. to K. B. 4th sq.
12. Q. to B. 4th sq. chg. K. to R.=&q.
13. Q. to K. B. sq. Q. B. toadv. Q. 3d sq.
14. K. B. takes B. K. Kt. retakes, chg.
15. K. to K. 2d sq. K. R. takes P. chg.

1 It is bad play to take this Pawn, as the Queen must lose &
veral moves to get into safety, while his remaining pieces arel
locked up.




PHILIDOR ON CHESS.

WHITE.
. takes R.
<. takes Kt.

<. Kt. to K. 2d sq.

<. to K. sq.

<. R. to K. B. sq.
<. takes R.

€. to K. sq.

2. Kt. to R. 3d sq.
<. moves.

BLACK.

K. Kt. takes Q.

Q. to adv. Q. 3d sq.
R. checks.

K. P. moves on.

R. takes R. chg.

Q. to adv. Q. B. 2d sq.
Kt. to K. 4th sq.

Kt. to adv. Q. 3d sq. chg.

Q. Checkmates.

181
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THIRD MATCH,

Consisting, as before, of three Games played at once by
Puicipor, at the Chess Club, March 13, 1790.

In this Match, PriLipor looked over the Game playd
with Me. CoNnway, but played the others without seeing
either of the boards. Each of his opponents was allowed %
take the move.

GAME L

Played against the Hon. H. S. Conwavy.

WHITE. BLACK.

. K. P. two squares. The same.

. K. B.to Q. B. 4thsq. Q. B.P. one sq.

. Q. Kt. to B. 3d sq. K.B to Q. 3d sq.

. Q. P. one sq. K. B. to Q. B. 2d sq.
. Q. to K. B. 3d sq. Q. to K. 2d sq.

. B. to adv. K. Kt. 4th sq. K. Kt. to B. 3d sq.

. K. Kt. to K. 2d sq. Q. P. one sq.

. K. R. P. one sq. Q. B. to K. 3d sq.

W I AW e
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WHITE. BLACK.

37. K. to Q. 2d sq. K. to Q. 3d sq.

38. R.to adv. K. R. sq. K.to Q. B. 4th eq.
39. Q. B. P.one sq. Q. Kt. P. advances.

40. Q. B. P. takes P. chg. K. to adv. Q. 4th sq.?
41. R. toadv. K. R. 3dsq. R.to adv. Kt. 2d &q. chg.
42. K. to Q. B. sq. P. to adv. K. 3d sq.

43. R. takes P. " R.toadv. K. Kt. sq. chg.
44. K. to Q. Kt. 2d sq. P. to adv. K. 2d sq.

45. R. to adv. K. 3d sq. Pawn queens.

46. R. takes Q. R. takes R. and

Paivipor wins the Game.

! This is more scientific than taking the Pawn with the King.
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21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.

‘WHITE.

PHILIDOR ON CHESS.

BLACK.

P.toadv. Q. B.3deq. K.R.to Q. eq.

K. R. to Q. sq.
R. takes R.

B. to Q. Kt. 3d sq.
P. takes B.

K. to B. 2d sq.
K. takes Q.

R. takes P.

K. to Q. 2d &q.
K. takes P.
R.to Q. R. sq.
R. takes Q.

K. R. toadv. Q. 3d sq.
Q. B. P. takes R.

B. takes B.

Q. to Kt. 3d sq.

Q. takes Q. chg.

R. takes P,

R. to Q. 3d sq.

K. P. checks.

Q. P. advances.

P. queens.

R. takes R. and wius.
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16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31
32.

33

WHITE.
K. to Kt. 2d sq.
K. B. P. one sq.
Q. Kt. to K. 2d sq.
Q. B. P. one sq.
Q. P. advances.
Q. P. takes P.

Q. R. to K. sq.

Q. to K. B. 2d eq.
Q. Kt. to K. 2d sq.
Q. takes P.

Q. Kt. takes Q.

K. to R. sq.

K. R. to K. Kt. sq.
K. takes R.

Kt. interposes.

K. to Kt. 3d sq.

. K. to Kt. 4th sq.

Q. Kt. to Q. 4th sq.

PHILIDOR ON CHESS.

BLACK.

Q. P. advances.

Kt. to K. B. &q.

Kt. to K. Kt. 3d sq.

Q. R. to K. Kt. sq.

B. to Q. Kt. 3d sq.

Q. takes P.

K. t0 Q. 2d sq.

K. R. P. advances.

B. to Q. B. 2d sq.

K. R. P. takes P.

Q. takes Q. chg.

Kt. to adv. K. B. 4theq. chg.

K. R. takes P.

K. R. takes Kt. chg.

R. checks.

R. takes Kt. chg.

Kt. to adv. R. 3d sq. chg.

Rook gives Mate.—If;, instead
of his last move, White had
played K. to Kt. 2d sq., be
could only protract the Game
a very few moves.
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No. IX.

So long as you hold a piece on any particular square yu
may withdraw it, and play it to another square.

No. X.

Should you, by mistake, move one of your adversay'
pieces instead of one of your own, you may be compelled, 2
the option of your adversary, either to take the pieceifit
can be taken, to replace it where it stood and move yow
King, or to leave it on the square to which you have playd
it. In this, as in every other case, should the King be u-
able to move without going into check, that part of the penalty
cannot be enforced.

No. XI.

If a player capture a piece with one that cannot takei
without making a false move, his antagonist may comp!
him either to take such piece with one that can legally tit
it, or to move the piece touched.

No. XII.

Should you, however inadvertently, capture one of yo
own pieces with another, you must move either of the tw
at the choice of your adversary.







Rl
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No. XVII.

When you give check to the King you must alway
prise your adversary of it, by saying ¢ check,” or he
obliged to notice it, but may play elsewhere, as if chec
not been given. If also, after neglecting to say  ct
the King should remain in that state for one or more 1
and on your then perceiving it you should attack a pi
the same time declaring ¢ check,” you can derive no :
tage ; for every move played since you really check
King must be recalled, and the original check provid

No. XVIIIL

Supposing you discover your King to be in check,
have remained so during two or more moves, withou
being able to ascertain how it first occurred, you are at
to retract your last move and provide for the check.

No. XIX.

Stalemate constitutes a DRAWN GAME.

No. XX.

If your adversary say ¢ check,” without at the sam
giving check, and you should in consequence have
your King or interposed a piece, you may retract the
provided you discover your error hefore he plays agail
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on which they are not considered sufficiently explicit, ts
question must be referred to a third party, whoee deciin
ought to be received as a final settlement of the point &

question,



CHESS PROBLEMS.

tpor having given no appendix of critical situations in
herwise valuable work, the Editor has attempted to
y the deficiency by the following Positions; none of
1 have ever before been published in England.—He
lected them chiefly from contemporary German authors,
ming a fair specimen of the manner in which this pecu-
ranch of Chess is developed in the North of Europe ;
ronfidently trusts that this collection will be allowed to
in some of the most curious and ingenious Problems
orinted. '











































































































































































SOLUTIONS -

OF THE

CHESS PROBLEMS.



SOLUTIONS

OF THE

CHESS PROBLEMS.

It is understood that waiTe have always the first move,
unless otherwise specified; and the waiTE PAWNS are re-
presented throughout as moving upwards on the board.

No. L

WHITE. BLACK.
1. Rook to Q. 6th square.
If he play K. to Kt. 4th sq.,
you check with R, at K. Kt.
6th 8q.; he then, as lxis best
move, returns to B. 4th sq.,
on which you check with
K. B., and Mate next move.
K. to K. 4th sq.
2.-R. to K. Kt. 6th sq. K. moves.
3. B. checks, and White mates next move.
T2
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No: II.

WHITE, BLACK.

1. K. to Q. B. 5thsquare. K. moves.

2. Kt. to Q. B. 4th sq. ch. K. moves.

3. Kt. to Q. 6th sq. ch., and then Mates with R.—Youvl
observe that if, in the original position, your K. wereatQ
5th sq., the Mate might be given in three moves.

No. IIL

WHITE. BLACK.
. R. to adv. Q. Kt.sq. ch. K. to R. 3d square, as best.
. R.toadv. Q. R. sq. ch. K.to Kt. 4th sq.
. R.takes Q. R.P. ch. K. or P. takes R.
4. R. checks, and Queens the Pawn, &c. ; having sufficient
advantage to ensure the winning of the game. )

[0

No. IV.

WHITE. BLACK.
1. Q. to K. Kt. 5th sq. ch. K. to R. 6th square.
2. B. takes P. ch. Q. P. takes B.
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No. V.

IN THE FIRST PLACE.

To compel Black to Matewith K. Kt. P.

WHITE.

. Q. B. to Kt. 3dsq. ch.

. B.to K. B. 2d sq.
. K.to K. R. 8q.

OB W D e

6. R. takes P.
7. Q.to K. Kt. 3d sq. ch.
8. Q. B.to K. Kt. s8q.

BLACK. '

K. to K. R. 6th square.

. R.to K. R. 4th sq. ch. P.takes R.
. K. B.to K. 6th sq. ch. Q. P. takes B.

Doubled P. moves.

Doubled P. moves. — Blak
may sometimes vary bis
moves, but in that case you
willeasily discoverfromthe
accompanying guide hov
to act in order to bringthe
pieces into the required
position.

K. P. two squares.

P. takes Q.

P. checkmates.
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IN THE SECOND PLACE.

To compel Black to Mate with Q. P.

WHITE.

1. Q. B. to Kt. 3d sq. ch.

2. R. checks.
3. K. B.to K. 6th sq. ch.
4. B.to K. B. 2d sq.
i B, Kt. checks.
6. R. checks.
7. K. to K. R. sq.

BLACK.
K. moves.
P. takes R.
Q. P. takes B.
P. moves.
P. takes Kt.
P. interposes.
K. P. moves.

¢ 8. Q. B. to K. Kt. sq., and the denouement is obvious;
¢ the position being very similar to No. IV.

IN THE THIRD PLACE.

! To compel Black to Mate with K. P.

" WHITE.
1. B. ch. as before.
2. R. checks.
3. K. B.to K. 6th sq.
. B.to B. 2d sq.
. Kt. checks.
.R. checks.
. K. toK. R. sq.

»

b I~

BLACK.
K. to R. 6th square.
P. takes R.
Q. P. takes B.
Doubled P. moves.
P. takes Kt.
P. interposes.
K. P. two sq.
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8.
9.
10.

o WD =

O ® N O

—
[=]

11
12
13

14,

WHITE.
B. to K. Kt. sq.
R. takes P. ch.
Q. to Kt. 2d sq. ch.

K.

SOLUTIONS OF THE

BLACK.
P. advances.

P. takes R.
P. takes Q.—Mate.

No. VL.
WHITE. BLACK.

. R. checks. K. to Kt. square.
. Q. to K. R. 7th sq. ch. K. to B. sq.
. R. checks. K. to K. sq.
. Q.to B. 7thsq. ch. K. to Q. sq.
. R. checks. K. to Q. B.sq.
. Q. to Q. 7th sq. ch. K. moves.
. R. to Q. Kt. 4th sq. ch. K. to corner.
. Q. toadv.Q. B. sq. ch. K.to Q. R. 2d sq.
. K.to Q. B. 6th sq. P. moves.
. Q. toadv. Q. sq. K. toR. 3d sq.
. Q.to K. 7th sq: K. to Q. R. 4th sq.
. P. advances. K. returns.
. Q. to Q. Kt. 7t1sq. ch. K. attacks R.

R. to Q. R. 4thsq. ch. P, takes R.

15. P. gives Checkmate.—There is another method of
by which this Checkmate may be forced in fourteen me
—1I leave this to be solved hy the student.
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No. VIIL
IN THE FIRST PLACE.

To Mate with the first or most advanced Pawn.

WHITE. BLACK.
1. Kt. to Q. R. 6th sq. ch. Kt. interposes.
2. K. moves. P. takes Kt.

3. P. gives Checkmate.

IN THE SECOND PLACE.
To Mate with the second Pawn.

WHITE. BLACK.
. Kt. to Q. R. 6thsq. ch. Kt. interposes.
. Q. to Q. B. 7th sq. P. takes Kt.
. P. checks. K. moves.
. P. gives Checkmate.

W N -

IN THE THIRD PLACE.

To Mate with the third Pawn.

WHITE. BLACK.
1. Kt. to Q. R.6thsq. ch. Kt. interposes.
2. Q. to K. Kt. square. P takes Kt.
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WHITE. BLACK.
3. Q. to Q. R. sq. P. on.
4. K. to Q. B. 5th sq. P. on.
5. K.to Q. B. 4th sq. P. on.
6. K. to Q. B. 5th sq. P. on.
7. Q.to K. sq. P. Queens.
8. P. checks, &c.

IN THE FOURTH PLACE.
To Mate with the fourth Pawn.

WHITE. BLACK.

1. Kt. to Q. R. 6thsq. ch. Kt. interposes.

2. Q. to K. Kt. square. P. takes Kt.

3. Q. to Q. R. sq. P. on.

4. K. to Q. B. 5th sq. P. on.

5. The Pawns now advance in succession, and the fourth
Checkmates.

IN THE FIFTH PLACE.
To Mate with the fifth and last Pawn.

WHITE. ) BLACK.
1. Kt. to Q. R. 6th sq. ch. Kt. interposes.
2. Q. to K. Kt. square. P. takes Kt.
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WHITE. BLACK.
2. to Q. R.sq. P. on.
2. to Q. R. 2d sq. P. on.
<. to K. B. 5th sq. P. on.
he Pawns advance as before, checking in rotation ; and
st Pawn gives Checkmate. '

No. VIIL

WHITE. BLACK.
<t. from Kt 4th sq. ch. K. to Q. 2d square.
2.toQ.B.8theq.ch. K. moves.
Q. to adv. Q. sq. ch. K. to Q. B. 4th sq. (best.}
. to Q. 4th sq. ch. K. moves.
2. to Q. Kt. 4thsq. ch. K. moves.
Q. to Q. R. 5th sq. ch. K. moves.
Q. takes B., and gives Checkmate.

No. IX.
WHITE. BLACK.
Q. B. to K. Kt. 7th sq. ch. K. to K. Kt. square.
R. checks. K. to B. 2d &q.
R. takes Q. ch. K. to K. 3d sq.

R. to K. B. 6th sq. ch. K. to Q. 4th sq.
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WHITE. BLACK.

5. R. to Q. 6th sq. ch. K. to K. 5th sq.
6. R. to Q. 4th sq. ch. K. to K. B. 6th sq.
7. R.to K. B. 4thsq. ch. K. to K. 7th sq.
8. R.toK.B.2dsqg.ch. K. to Q.6th sq.
9. B. checks. K. to K. 5th sq.
10. R. to K. B. 4th 8q. ch. K. to Q. 4th sq.
11. R. to Q. 4th sq. ch. K. to K. 3d sq.
12. R. to Q. 6th sq. ch. K. to K. B. 2d &q.
13. R.to K. B. 6th sq. ch. K. to K. Kt. sq.
14. R. checks, and Mates next move.

No. X.
WHITE. BLACK.
1. R.from Kt.6thto Kt.7th  K.to R. 3d sq.
square, ch.
2. P. checks. P. takes P.
3. R.to Kt. 6th sq. ch. K. to R. 2d sq.
4. R.to Q. R. 6th eq. ch. K. takes R.
5. P. takes P. ch. K. to R. 2d sq.
6. P. advances, ch. K. to R. 3d sq.
7. R.toadv. Q. R. sq. ch. K. to Kt. 2d sq.
8. P. checks. K. takes R.
9. P. checks. K.to R. 2d sq.
10

. Kt. to Q. Kt. 5th sq. ch. K. to R. 3d sq.
. Kt. to Q. B. 7th sq. ch. and then Mates with B.

—
-
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No. XI.

WHITE. ° BLACK.
1. Q. Kt. P. advances.
If Black advance Q. R. P,,
you move the King down, as
in the following mode of play.

P. takes P.
2. P. takes P. K. R. P. advances.
3. K. to Q. 4th sq. K. R. P. advances.
4. K. to Q. B. 5th sq. K. R. P. advances.
5. K. to Q. 6th sq. K. R. P. advances.
6. K. to Q. B. 7th sq. P. Queens.
7. R. takes Kt., giving Checkmate.

No. XII.
WHITE. BLACK.
1. R.from Q. R. 7th, to Q. K. moves.
7th square.

2. K. to Q. 6th sq. K. moves.
3. K. to Q. B. 7thsq. K. moves.
4. K. to adv. Q.sq. K. moves.

5. R.from Q. 7th sq. ch., and then P. Mates.
v

1)
-~
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No. XIII.
WHITE. BLACK.
1. Kt. checks. R. must take Kt.
2. Q. takes R. ch. K. to Q. B. 2d square.
3. R. checks. K. to Q. 3d sq.
4. Q. to adv. Q. sq. ch., and Mates next move, takingB.

No. XIV.

WHITE. BLACK.
1. Kt. from Q. Kt. 4th, to K. moves.
Q. B. 6th square, ch.

2. R. takes P. ch. K. takes R.
3. R. checks. K. ¢0 Q. B. sq.
4. Kt. to K. 7th sq. ch., and Mates next move.
No. XV.
WHITE. BLACK.
1. Q. takes P. ch. K. takes Q.
2. Q. B. P. checks. K. to K. 4th square.

3. Q. P. ch,, and then Mates with B.
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No. XVI.
WHITE. BLACK.
. Q. to K. B. 7thsq. ch. K. to corner.
. Kt. checks. P. takes Kt.
. R.ch. Kt. interposes.
R. takes Kt. ch. P. takes R.

. B. takes P. ch., and Mates on the next move.

No. XVII.
WHITE. BLACK.
. Q. takes Kt. ch. P. takes Q.
. Kt. checks. K. to Kt. 6th square.
. R. takes P. ch. B. takes R.
. R. takes B. ch. R. takes R.

. Kt. gives the coup-de-grace.

No. XVIIL
WHITE. BLACK.
1. R. to Q. Kt.3d sq.ch. K. moves.
2. R. takes Kt. ch. P. takes R.

U2
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WHITE. BLACK.

3. Q.B.to K. 7theq.ch.  B. interposes.

4. Q. to K. Kt, 5th sq. ch. B. interposes, as best.
5. Q. takes B. ch. Q. takes Q.

6. Q.P.checks, R. takes Q. P.

7. K. P. takes R., giving Checkmate.

No. XIX.

WHITE. BLACK.
1. Q. B. checks. R. interposes.
2. Kt. to K. 7th square, ch. Q. interposes.
3. Q. to Kt. 8th sq. ch. Q. takes Q.
4. Kt. takes P. ch. R. takes Kt.
5. Kt. checks. K. moves.
6

. K. B. to K. B. 5th sq., discovering Mate.

No. XX.

WHITE. BLACK.
1. Kt. to K. B. 5th sq. ch.. K. moves.
2. R. checks. R. interposes.
3. Kt. to Q. Kt. 3d sq. ch. Q.takes Kt. ch.
4. Q. B. P. takes Q., and Checkmates next move.
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No. XXI.

WHITE. BLACK.
1. Kt. to Q. Kt. 5th square. K. to corner.—If he move P.,
you advance Q. B. P. one

sq., &c.
2. R.to Q. Kt. 2d sq. ch. K. to Q. Kt. sq.
3. Kt.to Q. 6th sq. P. moves.

4. Q. B. P. advances, and then gives the Mate.

No. XXII.

WHITE. BLACK.

1. Q.to K. B. 7thsq.ch. K. to Q. B. square.

2. Q. to adv. K.sq. ch. K. to Q. Kt. 2d sq.

3. Q.toQ.7th.sq.ch. K. to Q. Kt.sq. for if he play
to Q. R. 3d sq. you check
at Q. Kt. 5th sq., and
mate next move.

4. K. to Q. Kt. 6th sq., and wins without difficulty.
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No. XXIII.

WHITE. BLACK.

. K. to Q. B. 3d square. K. to Q. R. 7th sq.

=

2. K. to Q. Kt. 4th sq. K. to corner.
3. K.to Q. R. 4thsq. K. moves.
4. Kt. to Q. B. 3d sq.ch. K. to corner.

5. Knight gives checkmate.

No. XXIV.
WHITE. BLACK.
1. Q. toQ. R. 5th square ch. Q. interposes ch.
2. Q.takes Q. ch. P. takes Q.

3. Kt. to Q. Kt. 4th sq.—If Black now advance Q.
you move K. to Q. B. 2d sq.; but if instead he
Q. P, you take it with Kt.: in either case the Mate
sently forced, and is given in some Variations by ]
Q. B. 2d sq., and in others on Q. Kt. 3d sq.—I pur
further detail.
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No. XXV.

WHITE. BLACK.
. K. B.P. two square, ch. Kt. takes P.
2. P. takes Kt. ch. Q. takes P.
3. B. to K. Kt. 3d sq.

[~

If he take B. he gives.you
Stalemate ; and if
B. checks.
4. K. to R. 2d sq.—The Game is drawn.

No. XXVI.

WHITE. BLACK.
1. R. checks. R. takes R.
2. Kt. to Kt. 6theq. ch. K. to K. Kt. sq.
3. Kt. takes P. ch. and draws by a perpetual check.

No. XXVIL

WHITE. BLACK.
1. B. checks. B. must take B.
2. Q. takes K.R. P.ch. Q. takes Q.
Stalemate.
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No. XXVIII.
WHITE. BLACK,
1. R. checks. K. takes R.
2. R. checks. K. moves.
3. B. checks. Q. must take B.
4. R. checks. K. takes R.
5. Q. takes Q. Kt. P. ch. B. takes Q.
Stalemate.
No. XXIX.
WHITE., BLACK.
. 1. K.to Kt. 5th sq. dis. ch. Q. must take R. [A.]
2. R. checks. B. takes R.
Stalemate.
[(A]
WHITE. BLACK.
K. moves.
2. R. checks. K. to Q. B. sq.

3. R. to adv. Q. R. sq. ch. and Mates next move.
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WHITE.

‘No. XXX.

BLACK.

. Castles, chg.—This move

is difficult to see.
. R. to K. square.

. Kt. to K. 3d sq. ch.

. R. checks.

.

. R. checks.

R. to K. 6th sq. ch.

. Kt. to Q. 3d sq. ch.

K. to K. 2d sq.

K. to K. B. 3d sq.

K. to K. B. 4th sq.

K. to K. B. 5th sq.

K. to K. Kt. 6th sq.

K. takes P.—The result is
sufficiently obvious if he
choose the other move.

K. takes B. to avoid Check-
mate.

. Kt.to K. B. 4th sq. ch. K.to R. 3d sq.
. R. gives Checkmate.

WHITE.

. B. checks.

No. XXXI. )

BLACK.
R. interposes.

K. B. to K. 6th square. Q. Kt.P. advances.—If he ad-

vance K. R. P. the result
is the same.



296 SOLUTIONS OF THE

WHITE. BLACK.
3. K. B. to Q. 7th sq. Q. Kt. P. goes on.
4. K. to B. 7th sq. Q. Kt. P. advances.
5. K. to K. 8th sq. Q. Kt. P. advances.
6. K. to Q. 8th sq. P. Queens.
7. B. takes R, giving Checkmate.

No. XXXII.
WHITE. BLACK. -

1. Kt. to K. 2d square. K. to Kt.sq. [A.]

2. K. to K. 7th sq. K. to R. sq.—If he play!
2d sq. you move a
(A]

3. K. to adv. K. B. sq. K. to R. 2d sq.

4. K. to K. B. 7th sq. K. to R. &q.

5. K. to K. B. 4th sq. P. moves.—If he play K
moves are not difficul
discover with the ac

. panying variations.

6. Kt. to K. Kt. 6th sq. ch. K. moves.

7. Kt. to K. B. 8thsq.ch. K. to corner.

8. Kt. to K. 7th sq. P. Queens.

9. Kt. gives Checkmate.
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(A]

If he move K. to K. R. 2d sq., you oppose him with K.
t K. B. 7th sq., and the position resolves itself into the
-ain of play you have just examined.

No. XXXIIL

WHITE. BLACK.
. K. B. to K. 2d square ch. K. to Q. R. 5th sq.
. K. B. to Q. B. 4thsq. Q.Kt. P. advances.
. K.B.to Q. R.2dsq. Q. Kt.P. moveson.
. K. to Q. B. 4th sq., and Checkmates next move.

W N

No. XXXIV.

‘White, having the move, plays thus :

WHITE. BLACK.
1. Kt. to Q. Kt. 5th sq. ch. K. to Kt. sq. as best.
2. Q. R. checks, K. takes Q. R.

3. R.t0Q.B. 8thsq.ch. K. to Kt. 2d sq.
¢. Kt. Checks, and Mates next move with R. -
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Black has the move, and plays as follows:

BLACK. WHITE.
1. R. takes K. B. P. ch. K. must take R.
2. R. to K. 7th square ch. K. to K. B. sq.
3. Kt.to Q. 7thsq. ch. K. to Kt. sq.
4. Kt. from Q. 4th to K. B. 6th sq. ch., and Mates:
move with R.

No. XXXV.

WHITE. BLACK.
1. K. B. toK. 4th square ch. K. takes B. as best.
2 Q. P. checks. K. takes Kt. [A.]
3. R. checks. K. to Q. 3d sq.
4. R.to Q. B. 6th sq. ch. K. to Q. 4th sq.
5. Kt. to K. 7th sq. ch. R. takes Kt.
6. R. gives Checkmate.

(A]
WIITE. BLACK.
K. to K. B. 4th square.

3. K. P. checks. K. to Kt. 4th sq.
4. R. checks. K. to R. 4th sq.
5. Kt. to K. B. 6th sq. ch. R. takes Kt.
6. Kt. takes R. and Checkmates.
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No. XXXVI.

WHITE. BLACK.
Q. to K. Kt. 4th square. K. to corner.
Q. to adv. Q. B. sq.ch. K. to R. 2d sq.
K. to Q. 7th sq. K. to Q. Kt. 3d sq.
Q.to Q. B. 7thsq.ch. K. to Q. Kt. 4th sq.
Q. R.t0Q.R.2dsq. K. to Q. Kt. 5thsq. [A.]
K. to adv. Q. B. sq. K. to Q. Kt. 4th sq.
K. to Q. Kt. 7th sq. K. to Q Kt. 5th sq.
Q. to Q. sth sq. K. to Q. Kt. 4th sq.
Q. to adv. Q. Kt. sq. K. to Q. Kt. 5th sq.
K. to Q. Kt. 6th sq. Q. R. P.advances.
K. toQ. B. 7th sq.dis. ch. K. to Q. R. 5th sq.
R. to K. R. 3d sq. P. advances.
P. gives Checkmate.

(A]

WHITE. BLACK,
ceereet .t tetinens ..Q. R. P. advances.
. Q. to Q. Kt 7th 5q. ch K. to Q. R. 5th sq.
R. to K. R. 3d square. P. moves.

P. gives the coup-de-grace.
X

229
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No. XXXVII.
WHITE. BLACK.

1. K. to Q. Kt. square. Q. to Q. 7th sq.

2. K. to corner. K. to Q. B. 3d sq.

3. K. to Q. Kt. sq. R.to Q. R. 4th sq.

4. K. to corner. R. to Q. R. 5th sq.

5. K. to Kt. sq. Q. to Q. B. 7th sq.ch.

6. K. to corner. Q. to Q. Kt. 3d sq.

7. P. takes Q. Q. R. P. moves on.

8. P. takes R. K. to Q. Kt. 6th sq.

9. P. advances. K. to Q. R. 6th sq., then
vances the P. and Ch
mates.

No. XXXVIII.

WHITE. BLACK.
1. B. to K. Kt. 7th square. K. to Q. sq.
2. R. to K. 7th sq. K. to Q. B. sq.
3. R.to Q. 7th sq. K. to Q. Kt. sq.
4. K. to Q. 6th sq. K. anywhere.
5. K. to Q. B. 6th sq. K. to Q. Kt. sq.
6. R. to Q. B. 7th sq. K. to corner.
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WHITE. BLACK.
7. K. to Q. Kt. 6th sq. K. to Q. Kt. sq.
8. B. to K. 5th sq. K. to corner. .

9. R. to Q. B. 4th sq. P. must take R.
0. K. to Q. R. 6th sq. P. advances.

1. Q. Kt. P. advances. P. advances.

2. Q. Kt. P. advances. P. Queens.

3. P. gives Checkmate.-

. No. XXXIX.

WHITE. BLACK.

. K. R. to R. 7th square. K. to Q.3d sq.
. Kt. to Q. 3d sq. K. moves.
. Q. R. to Q. Kt. 7thsq. K. moves.
. Kt. to K. 5th sq. K. to K. 3dsq.
. K.R.toK. B. 7thsq. K. to Q. 3d sq.
. Q. R.ch.at Q. 7thsq. K.to K 3dsq.
. Having made Black take

up this position, you give

theMate with either Pawn,

by sacrificing the Kt. on

the side you want to Mate.

Supposing then, you wish

to Checkmate with K. B.P.

x 2
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WHITE. BLACK.
Kt. to K. Kt.4th sg.  P.takes Kt.
8. P. goes on, and Checkmates.

No. XL.
WHITE. BLACK.
1. P. Queens chg. K. to R. 2d Qq.
2. Q. to K. Kt. 6th &q. chg. K. to R. sq. [A.]
3. K. R.P. two sq. K. to Kt. sq.
4. Kt. to R. 6th sq. ch. K. to corner.
5. Kt. to K. Kt. 4thsq. K. to Kt. sq.
6. B. to K. 7th sq. K. to corner.
7. Q. to K. 8th sq. ch. K. to R. 2d sq.
8. Q. to K. B. 7th sq. K. to corner.
9. Q.to K. B. 8th sq.ch. K. moves.
10. B.to K. Kt. 5th sq. P. must give Checkmate.
(A.] v
WHITE. BLACK.
2. teeit iiieeaeeeeeaes K. to Kt. sq.

3. Kt. to R. 6th sq. ch. K. to corner.






234, SOLUTIONS OF THE

though the great space they
would occupy prevents my
giving all the Variations.

10. Q. to K. R. 7th sq. K. to his own sq.

11 Q. to K. Kt. 7th sq. K. to his Q. sq.

12. Q.to K. B. 7th sq. K.to Q. B. sq.

13. Q. to K. 7thsq. K. to Q. Kt. sq.

14. Q. to Q. 7th sq. K. to Q. R. sq. H

15. Q. to Q. B. 8th sg. ch. K.to Q. R. 2d sq.

16. Kt. to Q. B. 3d sq. K. to Q. Kt. 3d sq.

17. Kt. to Q. Kt.5thsq. K. to Q. R. 4thsq. [A.]

18. Q. taQ. B. 6th sq. K. moves.

19. Kt. to Q. R. 3d sq. K. takes Kt.

20. Q. to Q. Kt. 7thsq. K. to Q. R. 5th sq.

21. Q. to Q. Kt. 6th sq. K. to Q. R. 6th sq.

22. Q. to Q. Kt. 3d sq. ch. K. is forced to take Q.,and in
so doing gives Stalemate.

(Al
WHITE. BLACK.
17. tiievecnenenns aeneesa. K takes Kt.
18. Q. to Q. B. 7th square. K.to Q. R. 3d sq. [B]

WHITE, BLACK.
vary his move, but with
the accompanying solution
it is not difficult to find
out the mode of winning,




19
20
21
22

18. ....
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WHITE. BLACK.
. Q. toadv. Q.Kt.sq. K. to Q. R. 4th sq.
. Q. to Q. Kt. 7th sq. K. to Q. R. 5th sq.
. Q. to Q. Kt. 6th sq. K. to Q. R. 6th sq.
. Q.to Q. Kt. 3d sq. ch. K. takes Q.—Stalemate.

. [B]

WHITE. BLACK.

e ....K. to Q. Kt. 5th sq.

19. Q. to Q. B. 6th square. K.to Q. Kt. 6th sq.

20

1
2
3
4

. Q. to Q. B. 5th sq. K. to Q. R. 5th sq.

The remainder is obvious.

No. XLII.
WHITE. . BLACK.
. K. P. moves. K. any where.
. K. R. P. advances. K. moves.

. Q.B.to K. R. 4thsq. K. moves.

. K. B.1o K. Kt. 4thsq. K. moves.

235
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WHITE.

. Kt. to K. B. 2d sq.
. Kt. to K. 4th eq.
. R. to Q. 5th eq.

. K. B. P. moves.

. Kt.to K. B. 4th sq.
10.
11.

R. checks.
Kt. to K. B. 6th sq.

SOLUTIONS OF THE

BLACK.

K. moves.

K. moves.

K. to K. B. sq.—He has
dently no better move.

K. to K.sq.—The student
find that the denouen
could not be protracted
playing any other mow

K. to K. B. &q.

K. moves.

P. takes Kt.—Mate.

No. XLIIL

WHITE.

. R. to Q. B. 7th square.
. Kt. to Q. Kt. 3dsq.
. K. to Q. B. 6th sq.
R. to Q. B. 8th sq. ch.
. Kt. to Q. R. 5th sq.
. P. checks.

. The other P. gives Checkmate.

BLACK.

K. to corner.

K. away.

K.to Q. R. sq.

K. removes.

P. must take Kt.
K. to Q R. 3d sq.
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No. XLIV.

WHITE. BLACK.

R. checks. R. interposes.

2. Kt. takes either P. ch. P. takes Kt.
3. Q. to K. B. 7th sq. ch. K. takes Q.

4.
5.
6.

O 0O T OO b WD

-
o

R. to K. Kt. 7thsq. ch. K. moves.
K.B. to Q. 7thsq. ch. Kt. takes B.
P. takes Kt., and gives Checkmate.

No. XLV.

WHITE, BLACK.

. Kt.to K. 6th square, chg. K. to Q. 6th sq.
. Kt. to K. Kt. 7th sg. K. returns.

. Kt. to K. B. 5th sq. K. to Q. 6th sq.
. Kt. takes K. R. P. K. to Q. 5th sq.
. Kt.to K.B. 5th sq.ch. K. to Q. 6th sq.
. Kt. to K. Kt. 7thsq. K. to Q. 5th sq.
. Kt. to K. 6thsqg. ch. K. to Q. 6thsq.
. Kt. takes K. Kt. P. K. to Q. 5th sq.
. Kt. to K. 6thsg. ch. K. moves.

. Kt.takes K.B.P.ch. K. to Q. 5th sq.
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WHITE. BLACK.
11. Kt. to K. 2d sq. ch. K. to Q. 6th sq.
13. Kt. to K. Kt. 3d eq. K. to Q. 5th sq.
13. Kt. to K. B. 5th sq. ch. K. to Q. 6th sq.
14. Kt. takes K. P., and Mates next move.

No. XLVIL.

WHITE. BLACK.
1. Q. to Q. B. 5th 8q. ch. K. to K. 3d square.
2. Q. to K. 5th sq. ch. K. to K. B. 2d sq.
3. Q. to adv. K. sq. ch. K. to Kt. 2d sq.
4. Q. to Kt. 8thsq. ch. K. to R.3d sq.
5. Q to K. R.7th sq. ch. K. to Kt. 4th sq.
6. Q. to K. R. 5th sq. ch. K.to K. B. 5th sq.
7. Q. takes B. ch. K. to K. 6th sq.
8. Q.to K. Kt. 3d sg.ch. K. to Q. 5th sq.
9. Q. to K. B. 2d sq. ch., and Mates next move.

No. XLVIIL

WHITE. BLACK.

1. Q. B. to Kt. 7th sq. ch. B. interposes.
- R. takes P. ch. B. takes R.

15
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WHITE.

BLACK.

3. Kt. to Q. B. 4th sq. ch. K. to Q. 4th sq.
4 4 Kt to Q Kt 6th sq. ch. K. to K. 4th sq.

10. R. to K. 6th sq. ch.

11. R. takes P. ch.

5. Kt.to Q. 7thsq. ch. K. toQ 4thsq.

6. Kt. takes B. ch. K. to K. 4th sq.

7. Kt. to Q. 7th sq. ch. K. to Q. 4th sq.

8. Kt. gives Checkmate. .

No. XLVIIL
WHITE. BLACK.

1. Kt. takes R. ch. K. to Kt. 2d sq. (best.)
_ 2. R. to Kt. 3d sq. ch. K. to Q. B.sq.

3. K. B. checks. Q. B. interposes.

4. B. takes B. ch. K. to Kt. sq.

5. B. to Q. 5th sq. ch. K. to Q. B. &q.

6. B. takes P. ch. R. interposes.

7. B. takes R. ch. K. to Q. sq.

8. R. checks. K.to K. 2dsq.

9. R. checks. K. to K. B. 3d sq.

K. to Kt. 4th sq.—If he had
now played to K. B. 4th
8q., you would Mate him
on the move.

K. to R. 5th sq.
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WHITE. BLACK.
12. R. to K. Kt. 4th sq. ch. K. to R. 6th sq.
13. R. takes K. B. ch. K.to R. 5th sq.
14. R. checks. K. to R. 6th sq.
15. R. to K. Kt. sq. ch., and then Mates with Kt.

No. XLIX.

WHITE. BLACK.
1. R.takes Q. Kt. P. dis. ch. P. takes B.
2. R. takes R. ch. Q. takes R.
3. Q. to K. B. 8th sq. ch. Q. takes Q. ch.
4. K. takes Q. ' K. B. P. advances.
5. Kt. to Q. 6th sq. P. Queens, chg.
6. Kt. interposes, chg. Q. must take Kt., ch.
7. K. takes Q. Kt. to Q. B. 6th sq.—He bu

no better move, for if he
advance P. to Q., you push
on Q. Kt. P., &ec. [A)]

8. Q. Kt. P. one sq. Kt. to Q. Kt. 4th 8q., threat
ening to check K. and P,
if you immediately mov
the latter.

p. K.to K. 2d sq. Kt. to Q. 3d sq.
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WHITE. BLACK.
u 10 K. takes Kt. K. to K. Kt. &g.
“' 11. K. to K. 7th sq., then advances P., which becomes Q.,
s and gives Checkmate.

@

(A]

WHITE. BLACK.
Y (ST TPURN sesssesesso. Kt. to Q. 7th square.
"~ 8. Q. Kt. P. advances. Kt. to K. B. 6th sq.
9. K. to K. B. 6th sq. Kt. to K. 4th sq.
i0. K. takes Kt.—Play as Black will, you now return with
K. to K. B. 6th sq., and then advance Q. Kt. P, still giving
Mate on the thirteenth Move.

No. L.

WHITE. BLACK.
1. Q. B. to K. B. 6th sq. ch. K. takes B.—If he move K.,
you Checkmate with R.
-2 Kt. to adv. K. Kt. sq ch. K. to K. 4th aq.
3. R.to K. 4thsq. ch. K. to Q. 4th sq.
Ty
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WHITE. BLACK.
4. Kt. to K. B. Gth sq. ch. K.te Q. B. 4th oq.
5. Kt. takes R. ch. K.t0Q. 4th sq.
6. Kt. to Q. Kt. 6th sq.ch. K.to Q. B. 4thsq.
7. R. ch. B. takes R.
8. Kt. to Q. 7thsq. ch. K. removes.
9. Gives Checkmate with K. P.

No. LI

WHITE. BLACK.

1. Kt. takes B. Q. Kt. P. takes Kt.

2. K. P. advances, and you then take K. Kt. P. with K.B.
having an easy winning position.

No. LIL
WHITE. BLACK.
1. Kt. takes K. P. ch. B. takes Kt. to prevent Check-
mate.

2. B. takes K. R. P.ch. K. to corner.
. B. to K. 4th square, ch. K. to Kt. sq.
. R. checks. K. takes R.

[
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WHITE. BLACK.
5. R. checks. K. moves.
6. K. B. checks. K. to corner.
7. B.to Q.3d sq. ch. K. to K. Kt. sq.
8. R. checks. K. takes R.
9. Q. to K. R. 2d sq. ch. K. moves.
10.

1
2
3
4
5
6

. Q. gives Checkmate.

No. LIII
WHITE. BLACK.
. B. to Q. 5th square, ch. K. to Kt. 4th sq.
. B.to Q.B.6thsq. ch. P. takes B.
. P. ch. K. moves.
. Q. to Q. Kt.3d sq.ch.  Kt. takes Q.
. P. takes Kt. ch. K. moves.

. White is Stalemated.

No. LIV.

WHITE. BLACK.

. R.from Q. Kt.6th square, Q. takes R.
takes Q. Kt. P. chg.
. R. takes Q. ch. - K. moves.
Y 2
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WHITE. BLACK.
3. K. Kt. P. advances. = R. to Q. R. 5th sq., as the
only move to save Mate.
4. R.toK.Kt.6thsqg. - R.returns to Q R.3dsq,b '
prevent Checkmate.
5. White persists in moving R. to K. Kt. 4th and 6th s,
and the Game is necessarily drawn.

No. LV.

WHITE. BLACK.

1. Kt. to Q. Kt. 7th sq. ch. K. moves.
. Kt. to Q. 5th square, ch. K. to B. 2d sq.
from Kt. and B.
. Kt. to Q. 8thsq. ch. K. moves.
Kt. to K. 7th sq. ch. K. moves.
Kt. to B. 7th sq. ch. K. moves.
. Kt.to K. Kt. 6th sq. ch. K.to B.6th sq.
. Kt. from K. B. 7thsq., K. to K. 7th sq.
to K. 5th sq. ch.
8. Kt. to K. B. 4th sq. ch. K. takes P.
9. Kt.to Q. B. 4th sq. ch. K.to adv. Q. B. sq. ch.
10. Kt. to Q. 3d sqg.ch. K. takes B.
11. Kt. to Q. 2d sq. chg., and then Checkmates with the
other Kt.

[
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WHITE.

No. LVL

BLACK.

1. Kt. to Kt. 7thsquare, ch. R. takes Kt.
2. Q. to K. R. 4th sq.ch. K. moves.
3. Q.to K. R. 6thsg. ch. K. moves.
4. Q. to K. B. 6th sq. ch. K. moves.
5. K. B. to B. 3d sq. ch., and then gives Mate with the

other B.

Y3
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